Paper |

The total of the ages of Amar, Akbar and Anthony is 80 years. What was the total of
their ages three years ago ?

A.
B.
C.
D.

71 years
72 years
74 years

77 years

A pineapple costs Rs. 7 each. A watermelon costs Rs. 5 each. X spends Rs. 38 on
these fruits. The number of pineapples purchased is

A.
B.
C.
D.

2
3
4

Data inadequate

A man has Z 480 in the denominations of one-rupee coin, five-rupee coin and ten-

rupee coin. The number of coins of each denomination is equal. What is the total
number of coins that he has ?

A

45

B. 60
C.
D

75

. 90

. Alis 3 years older to B and 3 years younger to C, while B and D are twins. How many
years olderis Cto D ?

A.

B
C.
D

2

. 8

6

;12

A father is now three times as old as his son. Five years back, he was four times as
old as his son. The age of the son (in years) is

A.

B
C.
D

12
15
18
20



6. A person crosses a 600 m long street in 5 minutes. What is his speed in km per

hour?
A. 36
B:. 7.2
C. 84
D. 10

7. A man complete a journey in 10 hours. He travels first half of the journey at the rate
of 21 km/hr and second half at the rate of 24 km/hr. Find the total journey in km.

A. 220 km
B. 224 km
C. 230km
D. 234km

8. The cost price of 30 articles is the same as the selling price of x articles. If the profit
is 20%, then the value of x is:

A. 15
B. 25
C. 18
D. 16

9. the first 10 overs of a cricket game, the run rate was only 3.2. What should be the run
rate in the remaining 40 overs to reach the target of 282 runs ?

A. 6.25
B. 8.5
C. 6.75
D

{ T

10. The ratio between the perimeter and the breadth of arectangle is 5 1. If the area of
the rectangle is 216 sq. cm, what is the length of the rectangle ?

A. 16cm
B. 18.cm
C. 24cm
D

. Data inadequate



11. Radha runs faster than Sheela. Nayana runs faster than Radha. Sheela runs faster
than Nayana. If the first two statements are true, the third statement is

A. true
B. false
C. uncertain

D. Not clear

12. During the past year, Praveen saw more movies than Arun. Arun saw fewer movies

than Dev. Dev saw more movies than Praveen. If the first two statements are true,
the third statement is

A. true
B. false

C. uncertain
- D

. Not cleér

13. Statements: Population increase coupled with depleting resources is going to be the
scenario of many developing countries in days to come.

Conclusions: (I) The population of developing countries will not continue to increase
in future. (I1) It will be very difficult for the governments of developing countries to
provide its people decent quality of life.

Only conclusion | follows
Only conclusion Il follows

Either | or Il follows

o o B »

Neither | nor Il follows

14. A two-digit number is such that the product of the digits is 8. When 18 is added to the
number, then the digits are reversed. The number is:

18
24

o ®m »

42

D. 81

15. A sum of money is to be distributed among A, B, C, D in the proportionof 5:2: 4 : 3.
If C gets ¥ 1000 more than D, what is B's share?

A. 2 500
B. 21500
C. 22000

D. None of these



16. The ratio between the length and the breadth of a rectangular parkis 3: 2. If a man
;yc!:ng along the boundary of the park at the speed of 12 kr/hr completes one round
in 8 minutes, then the area of the park (in sq. m) is:

A. 15360
B. 307200
C. 30720
D. 153600
17. A bank offers 5% compound interest calculated on half-yearly basis. A customer

deposits Z 1600 each on 1% January and 1°' July of a year. At the end of the year, the
amount he would have gained by way of interest is:

A. 2120
B. 2121
c.T122
D. %123

18. A sum of money at simple interest amounts to ¥ 815 in 3 years and to ¥ 854 in 4
years. The sum is:

A. 2650
B. 2690
C.%698
D. % 700

19. The cost price of 20 articles is the same as the selling price of x articles. If the profit
is 25%, then the value of x is:

A. 15
B. 25
C.18

D. 16
20. SCD, TEF, UGH, , WKL
A. CMN

B. UJI
C. VI
D. NT



21. ELFA, GLHA, ILJA, , MLNA

A.

B
C.
D

OLPA
KLMA
LLMA

. KLLA

22. Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

A.

B
C.
D

7
13
12

.10

23. Look at this series: 53, 53, 40, 40, 27, 27, ... What number should come next?

A.

B.
C.
D.

14
12
27
53

24. Ravi is working with a realtor to find a location for the toy store he plans to open in
his town. He is looking for a place that is either in, or not too far from, the center of
town and one that would attract the right kind of foot traffic. Which of the following
locations should Ravi's realtor call to his attention?

A.

a little shop three blocks away from the town's main street, located
across the street from an elementary school and next door to an ice
cream store

a storefront in a new high-rise building near the ftrain station in the
center of town whose occupants are mainly young, childless
professionals who use the train to commute to their offices each day.

a stand-alone storefront on a quiet residential street ten blocks away
from the town's center

a storefront in a small strip mall located on the outskirts of town that is
also occupied by a pharmacy and a dry cleaner



25. Statements:

The government has recently fixed the fees for professional courses offered by
the unaided institutions which are much lower than the fees charged last year.

The parents of the aspiring students launched a severe agitation last year
protesting against the high fees charged by the unaided institutions.

A. Statement | is the cause and statement |l is its effect
B. Statement |l is the cause and statement | is its effect
C. Both the statements | and Il are independent causes

D. Both the statements | and Il are effects of independent causes

26. One of the warmest winters on record has put consumers in the mood to spend
money. Spending is likely to be the strongest in thirteen years. During the month of
February, sales of existing single-family homes hit an annual record rate of 4.75
million. This paragraph best supports the statement that

A.

D.

consumer spending will be higher thirteen years from now than itis
today.

more people buy houses in the month of February than in any other
month.

during the winter months, the prices of single-family homes are the
lowest.

warm winter weather is likely to affect the rate of home sales.

27. The present age of father is four times the age of hi son. After 10 years age, if father
will become three times the age of his son. Find out the present age of father

A. 80 years

B. 82 years

C. 70 years

D. 84 years

28. A trader bought 50 kg of wheat at X7 per kg and 20 kg of wheat at Z8 per kg. He
mixed the two and sold the mixture at 210 per kg. What is his profit ?

A. 510

B.

700

C.190

D. 290



29. In what ratio should a shopkeeper mix rice and wheat costing 12 per kg and 15 per
kg to make the mixture 14 per kg ?

A 1.2
B.1:12
G.1:3

D.1:4
30. The square root of [(10+V25)(12-/49) is

A 43
B. 3V3
C.5V3

D. 2v3

31.A box contains 4 red, 5 green and 6 white balls. A ballis drawn at random from the
box. What is the probability that the ball drawn is either red or green?

A

5 N

B.

W

¢ 2
D —

32. Unscramble the letters in the words given in these questions and find the odd one
out.

A. UPJM
B. WKLA
C. PEELS

D. UNR



33. Three words in bold letters are given have something in common among themselves.

Out of the four given alternatives, choose the most appropriate description about
these three words.

Chlorine : Fluorine : lodine
A. These are halogens.
B. These are transition elements.
C. These are gases at room temperature.
D. These are names of inert gases.

34. Choose the word which is least like the other words in the group.

A. Reporter

B. Publisher

C. Printer

D. Reader

35. Choose the correct answer:

i. Ram is ahead of Kavitha
ii. Kavitha is ahead of Ramya
ii. Ram is ahead of Ramya

If the first wo statements are true, the third statement is
A. True

B. Uncertain
C. False

D. Cannot be determined



36. Study the given pattern carefully and select the number that can replace the question

mark (?) in it

A. 105
B. 126
€. 213

D. 145

37. How many triangles are there in a given figure

A 8
B. 6
C.5

D.9

38. Look at this series 8, 43, 11, 41, , 39, 17, What number should fill in the blank

A 14
B.8
C. 43

D. 44



39. Three of the following letter-clusters are alike in certain way and one is different. Pick
the odd one out

A PTY
B. EIO
C. YCI

D. DHN

40. What is the difference between the sum of the digits of first four digits of the given
number and sum of the last four digits in the number - 87345691

A1
B.2
C.5

0 7

41. Find the odd word out
A. Brick
B. Stone
C. Rock

D. Pebble

42. Choose the odd colour from the four colours
A. Pink
B. Indigo
C. Blue
D. Green
43. The average age of three boys is 15 years. If their ages are in the ration of 3:5:7, the
age of younger boy is
A 21
B. 18
C.15

BB

10



44. Write the appropriate answer;  Insect : Disease : : War : ?

A. Army
B. Defeat
C. Arsenal

D. Destruction

45. Write the appropriate answer:  Book : Cover :: Painting : ?

A. Example
B. Wall
C. Colour

D. Frame

46. Which word does not belong with the others ?
A. Inch
B. Centimetre
C. Yard

D. Ounce

47. Statement: All the harmoniums are instruments. All Instruments are flutes
Conclusions: (i). All flutes are instruments

(ii). All the harmoniums are flutes

A. Only (i) conclusion follows
B. Only (ii) conclusion follows
C. Either (i) & (ii) follows

D. Neither (i) nor (ii) follows

11



48. Find lowest common multiple (LCM) of 24, 36, 40

A. 120
B. 240
C. 360

D. 480

49. Out of four probable answers select the appropriate answer to the situation:

While going in a scooter, you find someone has been hurt by your vehicle, You would

A. Try to run away from the spot immediately
B. Stop your vehicle and say ‘| am sorry’
C. Take him to doctor and arrange for his medical aid

D. Pay compensation for the injury and in this way try to dispose off the matter
50. Which is the best statement to achieve success in life ? The best answer is:

A. The person should be well educated
B. The person should be rich and prosperous
C. The person should be sincere and hard working

D. The person should be honest

Fedededek

12
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Paper - Il {Total 50 Questions)

Part-A {General Awareness- 25 Questions)

1. The Expansion of ISRO is:
A. India Satellite Rocket Organisation
B. India Senor Research Organisation
C. Indian Space Research Organisation

D. Indian Science Reviving Organisation

2. Dr. M.S.Swaminathan is associated with which field:

A. Agriculture
B. Medicine
C. Astrophysics

D. Physics

3. Hariprasad Chaurasia is a renowned player of :
A. Sitar
B. Sarod
C. Tabala

D. Flute

4. The famous Dilwara Temples are situated in which state:
A. Uttar Pradesh
B. Rajasthan
C. Orissa

™

L PTG | RO, O
D, Madhva Pradesh

5. "Kathakali “ the folk dance of :
A. Karnataka

B. Orissa



C. Kerala

D. Andra Pradesh

6. The Headquarters of the UNESCO is located at:

A. Rome
B. Paris
C. Geneva

D. Washington

7. The five permanent members of UN Security Council are:
A. Japan, Germany, Russia, UK and USA
B. Canada, China, France, Russia and USA
C. Germany, China, Canada, Russia and USA

D. China, France, Russia, UK and USA

8. Fire Temple is the place of worship of which religion ?
A. Judaism
B. Taoism
C. Zoroastrianism

D. Buddhism

9. The members of Lok Sabha hold office for a terms of:
A. 4 years
B. 5years
C. Byears

D. 3 years

10. Which of the following is not a fundamental right in the Constitution of India:
A. Right to work

B. Right to Equality



C. Right to Freedom of Religion

D. Right to Freedom

11. Washing Soda is a common name for :
A. Sodium carbonate
B. Calcium bicarbonate
C. Sodium bicarbonate
D

. Calcium carbonate

12. Potato is a modified form(outgrowth) of :
A. Root
B. Stem
C. Fruit

D. Leaf

13. The Red Fort was built by :
A. Akbar
B. Jahangir
C. Shahjahan

D. Aurangzeb

14. The largest continent in the world is :
A. Africa
B. Asia

C. Australia

D, Antartica

15. Who wrote ‘Swami and Friends' ?
A. Munshi Premchand

B. R.K.Narayan



C. Ishwarchandra Vidyasagar

D. Rajaji

16. If the present population is 50000 and it increases by 4% every year then what is
population after 02 years ?
A. 53900
B. 54000
C. 54080

D. 54200

17. With which sport the word ‘duck’ is associated ?
A. Volleyball
B. Hockey
C. Football

D. Cricket

18. Which Country will host next G20 Summit in 2023 7
A. Indonesia
B. America
C. Germany

D. India

19. Who is the present President of USA ?
A. Obama
B. Joe Biden

C. Kamal Harris

=

Donald Trump

20. When is the ‘Constitution Day' celebrated in India ?
A. 5" November

B. 26" November



C. 29" November

D. 12" November

21. Which team won the ‘T20 world cup title in 2022 ?
A. Pakistan
B. New Zealand
C. England

D. Australia

22. Who is the present chief Justice of Supreme Court of India ?
A. Justice DY Chandrachud
B. Justice Ramana
C. Justice Kamal Narain Singh

D. Justice Venkatachaliah

23. The FIFA World Cup 2022 was hosted by
A ltaly
B. China
C. Qatar

D. France

24. \Who acquired social media "Twitter” recently
A. Bill Gates
B. Gautam Adani
C. Elon Musk
D. Zukerberg
25, Who wae the Prime Minister of UK before Rishi Sunak ?
A. Boris Johnson
B. David Cameron

C. Margret Thacher



D.

26. |

Lis Truss

Part-B (English — 25 Questions)

in a first-class hotel; it's too expensive for me

sleep
‘m going to sleep
am sleeping

‘have never slept

27. The correct antonym for ‘Frugal’ is :

A.

B.

Extravagant
Rich
Miserable

Happy

28. The correct antonym for ‘Underhand’ is :

A

B.

29.

C.

D.

Hidden
Surreptitious
Obscure

Exposed

only musician | like is Bismilla Khan
The
A
An

None of the above

30. I've been waiting for long time

A

B.

C.

the

an

a



D. None of the above

31. The correctly spelt word is :
A. Benefficiary
B. Beneficiary
C. Benefeciary

D. Beenfeciare

32. The correctly spelt word is :
A. Calibration
B. Calibrration
C. Cellibration

D. Calibrration

33. Despite his best efforts to conceal his anger (complete the

sentence)
A. he succeeded in camouflaging his emotions
B. he failed to give us an impression of his agony
C. he could succeed in doing it easily

D. people came to know that he was annoyed

34. “You are thinking very highly about Raj but he is not so" means
A. Rajis as good as you think about him
B. Your view about Raj is philosophical keep itup

C. You have good opinion about Raj but he is not as good as you think

O

Raj is much better than what you think of himn

35. “What did you see at the North Pole 7" Ashok asked Ram(Change to Indirect
speech)
A. Ashok asked Ram if he saw anything at theNorth Pole

7



B.

Ashok asked Ram what he had seen at the North Pole

C. Ashok asked Ram what did he see at the North Pole

D. Ashok asked Ram that he saw anything at the North Pole

36. Kailash said that he was sick and tired of working for that company(change to Direct

Speech)

A.

B.

C.

D.

Kailash said, “| am sick and tired of working for this company”
Kailash said, “He was tired of that company”
Kailash said to me, “I am sick and tired of working for this company”

Kailash said, “| will be tired of working for that company”

37. Meaning of “Back to Square One”

A

B.

C.

D.

To bring an issue
Doing something wrong
To face problems

To go back to the beginning

38. Meaning of “Word by mouth”

A.

B.

C.

D.

To make Promise
Wrong information
To spread by talking

To someone happy

39. One who collects coins as hobby is :

A.

B
C.
D

Philatelist

. Ornithologist

Statistician

- Numismatist

40. Some of the luggage not yet arrived

A.
B.

C.

has

have

IS



D. are
41.They ______asound infrastructure in order to
A. want, handle
B. got, mets
C. have, give
D. need, cope
42. The Synonym for “Stupid” is :
A. Rude
B. Dull
C. lliterate
D. Obstinate
43. The Synonym for “Contentment” is :
A. Craftiness
B. Satisfaction
C. Idleness

D. Craving

44. My mother __ 46 years old next Sunday
A. will be
B. was
C. is

D. will have

45, Plural form of ‘Monkey” is :

A. Monkieses

2

Monkeys
C. Monkies

D. None of the above

with the new challenges



46. The correct antonym for ‘Permit’ is :

A. Give
B. Allow
C. Forbid

D. Preserve

47. Plural for ‘basis” is
A. Bases
B. Bassis
C. Basises
D. Basies
48. A disease which spreads by contact is .
A.  Contagious
B.  Incurable
C. Infectious
D. Fatal
49. Meaning of “Beat around the bush”
A.  Avoid coming to the point
B. Run away
C. Deduce from the facts
D.  Likely to happen soon
50. He exclaimed with joy that India had won the World Cup (Change to Direct Speech)
A.  He said, “India has won the World Cup”
B. He said, “India won the World Cup”
C. He said, “How! India will win the World Cup
D. He said, “Hurrah! India has won the World Cup”

ok A ok
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Total Marks: 150
Attempt all questions Time: 1 Hour

1 Which part is fixed inside the ferrule in bench firmer chisel? / 89 % i EINY Hhod & IR GaEk:|
few au fosar ST 87

A Tang!%ﬂ B Neck/"®
C Shoulder / ¥NET D Bade /3

2 What is the essential knowledge for a wood worker before using glue? / 1€ &1 JTTNT B Y Ugd
Uh AP S| PIUhd b (o0 HTLIH T T 22

Colour of glue / & &1 3T

Beauty of glue / TTig @1 Yeal

Smell of glue / TIIg 1 7Y

Adhesive power of glue / g &1 faeA areft wfda

o O w >

3 Which tree has needle shaped leaves that grows in temperaiure regions and in high altitudes? /
fra U5 A g2 & AMHR F U7 81 & S aToAe & 9k 3= G IR I &2
A Soft wood / HAlTgH A el B Hard wood / H3] dd el
C True wood / =T 6%3} D Duramen wood / gIHH W

4 What is the projected height of dowel pin after inserting in a dowel pin joint? / giqd e Sige
STEH & a1 S1ad U7 &1 AT Hams fbah 8t 82

Full height upwards / T3 a8 SWR BT 3R

3/4th height upwards / 3/4th 3aT8 SR B 3R

1/2th height upwards / 1/2th UWF% FW Bl 3R

1/4th height upwards / 1/4th &aT8 SR BI 3R

o O m r

5 Which type of screw driver is used by carpenters? / Tsrr.f’s£ BRI 50 UBR & ¥p SRR Pl I fea
ST 82
A Phillips screw driver / fOh e & 3RaR
B Standard screw driver / @UEGFT@” E.'I'{?N
C Offset screw driver / 3{hUC &b GIFR
D London pattern screw driver / @ Uesi &b SIgaR
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10

1

12

13

Which part of the band saw machine prevents damage of teeth while breaking? / d8 9T i @I
I I HIT g2 THY 2l ) THar & qEe 2

A Saw guide / HI 58 B Upper guide/ 3R g8

C Throat plate / UT e D Ripping fence / RftT th=g

Which part of the shutter enclosed between the adjacent rails? / 33 ¥aii & od WeT B B T
I He 87

A Sash/¥ B Panel /37d

€ Mullion / Hfer D Transom/ ¢

Which part of the wood turning lathe is permanently fixed at the end of bed? / s T QY BT B
T U, Y & R R Rt &0 3§ fhay giar 27

A Head stock / 88 ®Ib B Tail stock / T €Id

C Tool rest !@fﬁﬁ?{ D Deadcentre/ 38 Jex

Which type of rule is called as shrinkage rule? / {8 THR & &0 $! it & Pl ST 22

A Steel rule/ ©Id &d

B Folding rule / BT

C Zigzagrule/ oo =

D Contraction steel rule / HeaRH Wd &a

What is called a piece of material cut to the exact size and shape to form desired object? / affesd

T T & o wle W3 SR R0 B H1e T W BT Ueb a2l T HaTd] 22

A Pattern / §e+ B LayoutfﬁGHGE
C Template / T D Stretch out /¥ 33T

Which plane is used for planning the job to size quickly and truly? / Sid B Sew! 3R Tat 3MBR 2
& fo70 o5 @i &1 IughT favar wmar 82

A Jack plane / 9@ TiH B Toothing plane / €T @
C  Furnishing plane / BHRAT @A D Smoothing plane / G123 &

Which type of wood is used to manufacture the head of mallet? | Fide & 28 &1 A0 H¢7 ¥ Riw
9 UaR #t g3 &1 I B o 22

A Sapwoodf?l‘-'fﬁ?a’ B Softwood / |4 48
C Thinwood / fH g8 D Hard wood / 8T8 g8

Which preservative is used for fencing posts, telegraph poles and floor joists? / BRI Ui, Tefius
Ul SR TR Sg¥e & for frw ufRers &1 Sua fsar simar

A Creosote oil / fpdie ad B Zincchloride / N diRge
C Sheathing / i D Sodium fluoride / IfSTH TARZES
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14

15

16

17

18

19

Which tool is used for making groove in a tongue and grooved joint? / b IUBRUI T IUGRT ST
3R 7d Siige A Ya §7H & foru fasa oar 22

A Jointer plane / SigeT @ B Smoothing plane / T @

C Plough plane / @13 & D Rebate plane / REAE]

What is the purpose of laminated board? / AEFCE S8 1 3220 &1 37

A Roofing work / &fth1 &1

B Packing work / ofchn Bt

C Structural work / TTHTHS ST

D High class furniture / 3= 90ft &1 BH=R

Which is the suitable abrasive used in disc sander machine? / f5%es T WefH § g&wre fbar mar
I USfE H1 1 2

A Size of disc / {5 &1 T=ZW

B Gauge of abrasive / Tsfyd &1 7ol

C Thickness of abrasive / TsiRd &1 HIeTS

D

Correct grade and type / T8l U8 3R UHR

Which operation is to be performed after the planning to make a stool? / ¥ §IH @Y G §H
F TG P T AR e o 82

A Sawing / HIgT B Marking / HifchTT

C Tenoning / AT D Diling/ f3fef

What is the essential characteristic of wood for furniture work? / BHIER & Hd & o %@T Gl
AT AR T 872

A Easily apply to marking / 3T § AT 81 ST

B Easily apply to paint / 3! ¥ U¢ 81 ST

C Easily apply to drilling / ST ¥ fET 81 M1

D Easily converted to any shape / T & faadt off oeR o uRakia

Which joint is used for small table bottom rail? / WA <8¢l SIcH Y & ol [ SIS &1 IuaT feba
ST 87

A Hunched mortise and tenon / 48 FAIfES 3R ¢4
B Single mortise and tenon / RiTa Aifés iR T
C Double mortise and tenon / S8d HIf¢sl 3R ¢
D Stub mortise and tenon / & AIfES 3R T4
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20 What is the special purpose of copper and brass nails? / dfd 3R Uidd & ®id &1 29 3220 &

21

22

23

24

25

26

&7
A Roofing / =fthTT B Packing / 9T
C Boat building / dic fafeg D Raiway sleeper’s / Yed TR

What is the advantage of portable electric router machine? / Ui aiet Eﬁﬁ‘?ﬁ A3 HAH BT I
Tl 87

A Smoothing surface of work / BT @1 Tdg &I [RIH=T ST

B Chiselling purpose / &1t &1 32=0

C Large straight holes / 9 T¢I ¢

D Used for moulding and grooving / FfeET 3R TifdT & forw uah e o 2

What is the method of attractive items used in door frame and door shutters? / 3R I 3R 3R TeX
o IugIT B S arelt by aeqai B @l Fr &

A Nailing /AfefT B Screwing / ¥p31

C Carving / BIfdT D Sanding/ Hf&T

Which method forms special works in furniture? / B=1eR H @14 Ot faftr i e e} 22
A MarkingfﬂT%’[ B Joiningfﬁ‘iléﬁll

C Gluing / 73T D Polishing / DI

What is the advantage of ripping fence in band saw machine? / &g If 729 # Rfth1 by &1 #1
HIIET 82

Accurate repacking and grooving / ¥¢id T-RTddH 3R W

Accurate ripping and cross cutting / gcta RIGT 3R I e

Accurate mitre and inclined cutting / 91 Hex 3R Sz BT

Accurate zig-zag and key hole cutting / T1e fSFT-S1T 3R #t Bt e

o O m P

Which part is used for cross cutting in vertical band saw machine? / $@ftR &2 o 73fi o B
SIS & o o HTT BT IuaNT foba v 82

A Butt gauge / §2 S B Wire gauge / dii¥ Ul
C Mitre gaugefﬁﬂﬁﬁ D Panel gauge!aﬂﬁﬁﬁ
Which machine is used to sharpen single point cutting tools? / RiTTd ufge i ad DI oS A P

forg fopa weila &1 Sugi fobar sirar &2

A Cylindrical grinder / STIHR TE83 B Surface grinder / TR&BY UEET
C Portable grinder / Tiead UEe D Pedestal grinder / U8%d MTESY
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27 Which part of the pedestal drilling machine controls the feeding of the drill while driling? / Uf&®d
fgferm wrei= &1 el W v fefeim ova T e &) S @) Fufrd H o2
A Base/d9 B Worktable / 3 cad
C Motor /AR D Feedhandle/ B8 830

28 Which chisel used for different shoulder cuts according to the dimensions in the turning work? /
i+ Bl ¥ ST} % SFHR 3(eT-3e TSy e b g - &1 3w i S 82
A Gouge chisel / TS &1 B Parting chisel / GTfET &+t
C Spear point chisel / R TTge w1 D Round nose chisel / T3S AT -1

29 What is the purpose of aluminium oxide abrasive in high speed sander machine? / 3= Ty ¥eR
i & uegfan effegs mae o 329 A 82

Old wood finishing / GRTH! deba! bR

Soft wood finishing / TH Tl AR

Hard wood finishing / 8T8 g8 AR

Nailed surface finishing / 708 Tag AT

o o W »

30 Which type of timber is used for machine moulding pattern? / i M€ Ue- & foT i YR ol
AP S! BT IUUNT T ofrar 32

A Teak/Tl® B Pine/ U2H
C Deodar / GdgR D Mahoganyf’l:iéll'{i

31 Which core print is used for hole above and below the parting line? / TIféT ega & FW R A
e & for frm HR fife &1 Iud far S 2

A Wing core / AT ®R B Cover core/ PR BIR
C Vertical core / MR HR D Balanced core / Tgfeid HR

32 Which tool is used to check the squareness of machined and fled surface? / TRiHIGd AR B
T8 B NPRUA B! S F T {58 IuSH0T 1 IHNT 31 W11Tl =2

A T’ square /'T' ¥hdUX B Twsquare!@'léw
C Bevel square / 99 WHdATR D Metre square / BT ThadR

33 Which device is used to cut external threads on cylindrical work pieces? / STHR THUN TR TR
) P $1e B forU fpw IudRor BT Iu i S &7

A Dies/8BH B Taps/<U
C Counter boring / B3R FINTT D Counter sinking / ®T3cR Rif=ha
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34 Which stake is used for making sharp bends, folding the edges of sheet metal? / 2ffe ¢1q & IR

35

36

37

38

39

40

P HIS §U, 461 IS S % e 5w R o1 30T eyt oy 22

A Funnel stake / 5ol ® B Halchet stake / 39¢ R
C Beak iron stake / §i® 3MRA W D Half-moon stake / 8% §H &

Which type of development method is applied if the other three methods cannot be developed? /

ﬁmﬁ%@ﬁﬁ%ﬁaﬁ%wm%aﬁﬁmmaﬁﬁwmmﬁmﬁﬁ%

A Geometric construction method / SaTfrdta fmfor i3y
B Triangulation method / TRUTGIH fafey

C Parallel line method / FAMTR YT fafey

D Radial line method / ¥fSTe g fAfYy

What is the reason for leather washer provided in between the blade shoulder and handle of

registered firmer chisel? / &8 % Yest 3R e wHR Ao & 23 b o 972 & afer F 2R
BT T BRI 22

Shock developed / X &1 AR BT

Shock absorber / QT &1 ARED BT

C Firm handle / 88 & fRUR &A1

D Support to the chisel / HoTet &) GgRT AT

oe)

What prevents the dust and smoke during reheating the animal glue? / usr g & EIRY 9 T A
& QR YT 3R 4T B Aebel 22

A Glue pot opened / el §3{T T Ule B Glue pot covered / Gl g3l ﬁ‘ﬁf

C Dry glue pot / T g3{1 7§ Ul D Wetglue pot/ e iq e

What is the effect of too much pressure in portable power disc sander machine? / Qicad Ura? {3
U 7 7 9gd 3ifie gara o1 1 yE &2

A Burn the wood / A& S! & STaT B Wear the wood / ol HI fJR BT
C Crack the wood / i a! H &R D Check the wood / e &1 Sifdl

What is the reason for carving knife slips? / T3 f&IwT P} H1ia1 &1 01 SR &2

A Correct position / H¥dE QTSI B Hold the chisel / &1 & U g
C Proper cutting edge / 3fad & Tw D Incarrect position / TTeTd fRUfY

What is the reason for hasp and staple attached with bolt and nuls rather than with screws? / b &

oY diee SR TeH & WY YU 3R VU 3% T B HRUTHT 2

A Security / Ragfect B Rusting/ @
C Dusting / ST D Edge damage / TSl SBW
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41 What is to be avoided while sanding? / <71 SR G0y fa5g ¥ Fa=11 =118U?

A Along the grain / 99 & 91 B Closed the grain / 9 @I §¢ &< faa
C Straight the grain / 3 1 Tiem B D Across the grain / 97 & 3fh1

42 What is the remedy of click noise while working on the band saw machine? / dg 4 7 R W
A gAY fFas TR BT IUM 7 22

Remove the wood / ddHa! Bl geTafl

Releasing the tension / 1d B Rele BT

Switch off the machine / 727 &I e 3T HR &

Adjust the ripping fence / Rt 5¥ &I THINRT B

o 0o m F

43 What is the prevention taken while working with a circular saw machine? | ddpeR Ff A & 1Y
FTY B FHY R AHUH B A1l 52

Avoid lubrication / e ¥ &<

Proper saw blade / Ifed I &1s

Use the knot timber / /¥R 7Tc &1 SEIATH HY

Never stand directly in the line with blade / =S & Iy Hf ot e RIES! H @3 q E\PT

o O w

44 Why drill bit is over heated in drilling operation? / {&fei aifovem 7 f&a fae &1 warer T =i far
ST 27

Cutting speed too high / CARCARIIG] dgd 31%%

Drill shank too length / 3@ & &1 daTE 9gd Sa1aT §

Drill point centre incorrect / %T’UHEE@IE?W 2

Spindle running out of centre | Fisd g A S Id @

o 0o W P

45 What is the cause for planed surface not straight and accurate?! @S g & WY AR H A g
&1 FT BRI 82

A Used proper lubrication / 3ed & 1 SxdHTd bl

B Work piece very hardness | HTY FUE BT dgd HER BT
C Setting the fence not properly / B @1 BTeh T RITO TET HAT
D Rear table not proper alignment / RTR 2@ &1 I W@W 781 g1

46 What ensures rotating the stock by hand in wood turning work? f@EEﬁW % § B Y LIP P
T &7 AT Far 2
A Clearance live centre and tool rest / FeiraR e1gd Fex 3R 7a1 &
B Clearance dead centre and tool rest / FERY 38 Yer 3R (ot ¥
C Clearance between stock and tool rest / &I 3R @\'ﬁﬁt’ &S ARy
D Clearance between live centre and dead centre / TTEd TeX 31R 38 HeX & a1 Faiy
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47

48

49

50

Which wood surface is avoided in sanding work? / f&T 7 & ford @rehal @1 Tag & s oI 82
A Convex surface / 3td Hdg

B Straight surface / Hef} Tag

C Irregular surface / 3fafid Wag

D Excess glue and nailed surface / 3ifafad i 3R Adre Tae

Which prevent the pattern and core box from moisture and fungi attack? / B9 e 3R PR aiad
&1 THI 3R FHab B gHS I UPbd 52

A Colour code / T HIE B Allowance / {39
C Fillet/ fthole D Filletiron / fhaic 3w
Which is used to protect the filed surface from damage? / BRd ®! 715 48 &I &fd ¥ s F U

T IuaT fpar Srar 22

A Viceclamps!maﬁﬂ B Guard /TS
C Tool rest/ T X D Chipguard /g ms

What is the remedy for sliding window glass damage due to vibration? / ST &% HRU RS arelt
RIg®! & &F & o T ST IUH A1 22

Use putty / Gg! &1 TG &3

Use giuet%@maﬁ

Use adhesive / T8 I1R1d BT T4 $¥

Use rubber gasket / Y8R 3T BT TN HY

o O W P
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Total Marks: 150
Attempt all questions Time: 1 Hour

1 Which is used for filling narrow grooves and angles above 10°? /10° ¥ HUR & Haiof @il 3R o
B WA & U (st v fovar o 82

Square file / ¥TIT Igd

Half round file / 3t Td BT @TH ISS BIEA)
Triangular file / 10l GIgd

Knife edge file / TgWh TS thigd

o O W >

2 Name the property of metal which can be drawn into wire without rupture. / u@aﬂwumﬁqm
FaT3T ford o1 g¢ ar o Wi o waar 81

A Ductility / Sfaeaet B Tenacity / TRIE
C Elasticity / 3 D Maleability / Heufaee!

3 Name the joint made by fastening two edges of sheet metal together. / 2fte ¢1q & & fHIRI &1 T&
1Y SIS gRT §ATT 7T Slise &I ATH Far?

A Hem/BH B Seam /MW
C Notch /¥ D Groove/ 7

4 Which indicates the strength of bond in grinding wheel? / HH-8T TSfET &d ¥ 918 B didvd &1

3fitq PR 7 ;

A Grid/ B Grade /U8
C Structure / =T D Gran size | U7 &1 ATHR

5 Which scraper is used to scrape the centre portion of large flat surface?/ I3 gUIe gdg & el M

P T o1 b @R &1 U faa S @7

A Flat scraper / 9Ulc @TEF% (EI%T:' @h":l?)

B Hook scraper / g {gvltl'-lnl (P W)

C Triangle scraper / FIYS WREHT (AT THWR)

D Bull-nose scraper / §&-1o1 GREAT (G Aol BHUR)

6 What type of abrasives are used in honing cast iron and non-ferrous materials? / PRE AT 3R

e meRga 1 B B3 & fore fpu UeR & saudes &1 IuahT fasar ST 67

A Diamond / STAHS

B Boron carbide / SR HTd138

C Silicon carbide / Rt #rafgs

D Aluminium oxide / TegHIATH SHidTSS
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"

12

13

Which bearing carry the load parallel to its bearing axis? / 14 I [{ufT HR Y vt fdafin sie &
AR o ST 82

A Split bearing / e faufi B Plain bearing / @ faafi

C Thrust bearing / Y% foafer D Radial bearing / Jf&ad faaft

What is the name of the plumber tool to assemble or dismantle pipes of 50 mm to 150 mm diameter?

/0 mm & 150 mm Y & UTgY &1 SHET A1 ufed B3 3 R @ oo &1 9 F

Strap wrench / ®Y fig

Chain pipe wrench / Gl IR g

Still son pipe wrench / Red &7 urgy fig
Foot point pipe wrench / B¢ Wige Urgy &g

o 0o o >

Which type of jig is used for awkwardly shaped work piece to drill at different angles? / faf¥ra vt
o {§d B & o1 s TR & 71 1 S0imTet Sroiiaiile edR & ad i & Rear o 22

A Postjig /Ui fomT B Solid jig/ Hifers S
C Indexing jig / ZSfaam fomr D  Trunnion jig / T fom
What is the property of the lubricant that the vapour is given off from the oil? / qfside @1 a8 B 4t

07 & o dd & ar Fepadt 22

A Viscosity / I B Firepoint / 3 fafg

C Pour point/ UR @WE¢ D Flash point/ Ui @WEe
Why the hand taps are chamfered at the lead? / &4} U8 21 ¥ile U 932 ) ora 27
A Aligning / 3ifaifiiT & fam B Finishing / AR & forg
C Strengthening / I3 & for D Gripping / Pt & foru
Why ribs are provided in the angle plate? / Tel @ic & &g & v fobar siar &2

A Provide flatness / AT UaIH &3 & forw
Prevent distortion / ﬁffﬁf BIAPA %ﬁ’f‘i{
Provide squareness / I®RUT UM &1 & 10

Support the machined surface / H=IIS Idg &I UK B3 & fequ

w

o O

What is the use of groover in sheet metal work? / ¥ffe Hed & B & AaR o1 SYGNT &7 4]

Releasing of seam / ¥ &1 Refle @

Compress the seam / H1d9 & HIY HAT

Closing of seam / 1 B adfl

Stress relieving during seam operation / W SR & ERA @H 3 e

o O o =
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14

15

16

17

18

19

Which is the operation of covering area of the metal with molten solder? / frerel g3 TR & WY
YTq & &3 B B B ATl TR BT A 82

A Pickling / fufdef B Swaging / ftiT
C Seaming / Hift D Tinning/ fe87

What is the purpose of cellulosic electrode in arc welding process? / 311& afeaT ufehal H Aeelies
ZATCIS B IS T 87

A Very easy to remove the deposited slag / STHT §311 T &I 821 dgd R B
B Used for high strength steel / B’F&f@w WId & o geamTa fba S g

C ltis used for low carbon steel / SHHT ITGIT ¢l e Tiel o ferw fhar Siram §
D Itis suitable for all position / T8 g fRUfY & forw Iuye &

What is the disadvantage of AC welding transformer? / AC é‘fé‘gn;rmuﬂﬁz DT b 1 %’?

More initial cost / 3{f&Ieh URIH® ANTd

Not free from arc blow / 3Téh &l & Hfad el

C More maintenance cost / 3t IEIWIG ARTA

D Not suitable for welding non-ferrous metal / 38 mg%ﬁ%n&f%wtrgaﬁqﬁ%

w

Which is the welding machine designed to supply both A.C and D.C current for welding ferrous and
non-ferrous metals using all types of electrode? / ®IF Tt AT AL S T UHR & eSSl
IUGNT PSP e AR 3fei urgsit Bl AT & o A.C 3R D.c ! &1 M e o forw Fewire &1
UERL

Rectifier set / AFRHTER I

Transformer set / TRABTER I

Motor generator set / HER SFREX €

Engine generator set / 351 SFReX U2

o 0O W

What is the purpose of clearance angle in twist drill? / fg¥e f3a & Feflois Ta &1 3529 &1 87

A Prevent rough holes / 3aRsHd f5al & Adh

B Prevent over size holes / 3ffaX T3w fal &1 A

C Prevent unequal angle of cutting edges / TR & SEHMH FI01 B Vs>

D Prevent friction of drill behind the cutting edges / f§@ & IR} & BYUI &I A

What is the algebraic difference between the actual size and its corresponding basic size? ICUSIEED

ITHTR IR 29 Hafdd 9 Trsl & s Sioig 3faR 1 82

A Deviation / fdgad B Tolerance / g <icdl
C Actual deviation / IR faaaH D Upper deviation / 3if9i& f3aa
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20

21

22

23

24

25

26

What is the use of screw pitch gauge? 1 &P o9 1S &1 Iz %'?

A Check lead of the thread / U8 @} oig & S BT

B Check the pitch of the thread / 38 ¥ U= &} Sifg o

C  Check the minor dia of thread / 48 &1 HIZ-R ST §] Sig HET
D Check the major dia of thread / 38 T BuR SR B S T

Which bolt in the assembly prevent the relative movement between the workpieces? / et o

I I ST ahYRT & St ATes AT ) e 27

A Anti-fatigue bolt / Tt BT diee B ‘T bolt/'T' 8l

C Body fit bolt / STa! fibe sl D Self-locking bolt / Ted T dlee
What is the use of dowel in assembly technique? / el dP-1® ¥ S1ae BT JUANT RIT 27

A Accurate positioning of two or more parts / @l a7 &l ¥ 3ifed 4T &1 ¥te Ry
B Securing components together / Ueh T4 e Bl JRIAIT BT

C Eliminate the need for drilling / f3feiT &} 3fraaedr &) wara He

D Increase the efficiency of fit/ fthe @t gerr FeTt

Calculate the blank size for external threading M16 x 2.0. farsﬂz;[ﬂw (@8 AfEM M16 x 2.0 F forw
ST YIZS P ITUMT .

A 140mm B 15.8mm
C 16.0mm D 18.0mm

Why slots are provided in the slotted castle nuts? / TS Hdd 7¢ ¥ Wie I U o1d 27
A Tofix splitpinslf@ﬁ&’ﬁ‘lﬁﬁﬁﬁﬂﬂﬁ%%ﬂ

B For good appearance / 3= fa@arad & forw

C Reduce the weight of nut / ¢ &1 a9 &H B & foU

D For easy removal and fitment / 3R ¥ g 31R fibe &7 & o

Which finishing process have a high degree of dimensional accuracy? / fbg fRRIT ufssar o
ST TRt @1 g feh Bt &2

A Filing / BT3fefT B Turning/ AT
C Grinding / UTSf&T] D Lapping / SftTT
What is the advantage of wing nut? / {47 =12g &1 IUdivT &1 87

A In coach building work / i At erf |

B Heavy duty assembly work / YR} &% dTdt 3iacit orf &

C Loosen and tighten without wrench / 2T 3R &g ! fig & &

D Provide decorative appearance / guilgcl JURIMA TaMH &7 & fog
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27

28

29

30

31

32

How bunching up of rolling elements are avoided in bearing assembly? / ST el & Afef
uferey &1 &l o B A S g9 5T 2

A By cage / B9 b gRI B By grooves / a4 & gRT
C By out race / 3T3eI Y & GRI D Byinner race / 3R ¥H & gRI

What type of fitting is used in straight pipeline to connect two pipes of external threads? / CIER ﬂ?{H
& &l Ur3ul Bl e & fw urguarg ® b R ) e srgua faar s g2

A Reducer / 3§ B Coupling / HUfe
C Cap/%9 D Nipple/Fad

What is the radius size for long radius elbow? / =T ST Tesll & forg e Tl 941 82

A Equal the bore the pipe / SR U130 & SRT&R
B 1% times bore of the pipe / UT3U &I 1Y T AR
C 3 times bore of the pipe / UT3U & 3 T[T IR
D 2 times bore of the pipe / UI§T &1 2 THT IR

Why the balancing weight is provided in the turning fixture? i Rpawar # Safin ao i ugH
fapm e &7

A To guide tool / T Bl TMES B & fo1T

B To balance the tool / T Pl §01F H & 1T

C To balance worktable / % ¢&cl B! Sl B & [T

D To balance irregular workpiece / AT ahdy B ?E@:@!HW & fow

Why vertical belt drive is avoided in power transmission? / Y& EA’IHII‘—IQI?I T affapd 9T Slgd &1
SEIHTS T 8] BT A1fed?

A Because of small wrapping of belt / e & BIe qUe Bt dslg B
B Because of excessive contact / 3N HUdb & HRUT
Cc
D

Because of gravitational pull and slippage / @YU f&TT 3R fFge & HRT
Because of increase in surface speed of pulleys / Gail &1 a8 @1 7 | g & HROT

Which valve protect against excessive pressure in hydraulic system? / HH mwmﬁfﬁa*
Reen ¥ 3t gera J aarar 87

A Gate valve / TIc dled B Glabe valve / 1§ aTed
C Relief valve / Relw ared D Non-return valve / A7 e dled
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33 Why geometrical test is carried out while testing machine tool? / ARII ¢& T URl&f0l R Y

34

35

36

37

38

ST otefor Y fba i 22

Performance of machine / T=19 &1 RBREY

Check the level of machine / =H & WR &1 g B9

Check the skill of operation / 3ITIRR & Bl P S H
Grade the accuracy of machine / HRIH &1 38 3R Tl

o 0O W P

Which cutting fluid is used for heavy duty machine with less cuting speed? / &H HIe B M ard
ot st it % R v e avet a1 QuainT fsan o 2

A Synthetic fluid / Ridfes ava gerf B Straight mineral oil / ¢ @AW da

C Fatty oil / TOET 9 D Soluble oil / I =M dd

How to adjust the tension of belt between two fixed pulleys? / & fhag Jeit & §1d dee & a1d &I
S AT B2

A By sliding the pulley / Jeel! & TBS B

B By fixing idler pulley / 3SR Yl 1 31 Hp

C By adjusting the length of belt / StC ! TETS PI TSHRE BIP

D By adjusting the screw of pulley ;‘Hc_vﬁé p DI TS PP

Which activity causes excessive wear and chattering of drill bitwhile drilling? / S A fafafy FE!?’TTI
Hd GAY 36 e & srafiies frge 3R e 639 &1 SR a7 2

A Too fast feed rate / Igd dol I8 &X

B Too slow feed rate / gd ¢l 7fd ¥ ®Is a3

C More cutting speed / 3(fi& HTe &1 Tfd

D Too slow spindle speed / §gd HiH fiiga Wi

What will happen if the clearance angle of drill is more? / &1 8T afe f$a o1 BRI BT it 812

A Cutting edge will be blunt / &7 TS sdie BTt

B Cutting edge will not be sharp / &7 TS dw g1 gift

C Cutting edge will become weak / BT TS HHSIR & ST

D Cutting edge will not cut material / BT TS TeRae &1 78 selt

How to prevent the tool rubbing against the work surface in metal cutting process? / YTq e B
Tfshar ¢ Bl ach WY F WS Pl Bl A2

Decrease lip angle / {7 HI01 &1 €T 63

Increased rake angle / Y& B0 Bl del Y

Increase clearance angle / FERY BT B TGT B

Decrease tool wedge angle / ¢cl dS P11 &I el B

o O w =
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39 What will cause if the nozzle touches the molten pool? / 4fe; A HieTed Ud &1 @l g di &l gim?

A
C

Spark / W B Smoke/ Y3
Back fire / 9 IR D Flash back/ URI%I 9

40 Why drilled holes are over size than drill dia? / f& % oo & ger & fga by e 5, SR #
3fftres at 82

41

42

43

Feed ratio is more / W18 U 3ifies &

Cooling is in effective / 2Naa gHTd! 3

Insufficient clearance angle / 3T FANY PI0T

Unequal length of cutting edge / S TS B A g

What is the defect caused if the tool is not set to the correct centre height while facing? / e [+ Gl

BRI B THY et Hg Bl HAs W A 78] AT Srar g, i |Ewe?

o O w P

Convex face / 31d B

Concave face / 3fadd bd

Pip left in the centre / g A AT B8 a1 &

Rough surface on the face / B IR 3ulshd 9dg

Why hand reamers have uneven spacing of teeth? / T 808 7R & fal H 3 HRTd 81l 87

A

B
Cc
D

Reduce chattering / el HH B

Remove more metals / 3{fd o1g FAabrel
Increase the efficiency / G&fdl S

Increase the life of the tool / gl &1 ffa FaTd

What is the reason for overheated drill while drilling? / f$feiTT Hd wa fga & iR dle 8 H1 a0
PRI 2

o o m »

Drill held not correctly / f$@ H&! &7 ¥ 78! UHal 85 §

Work is not rigidly held / & &aRdT & 78! g1dT &

Clearance angle is incorrect / FAY T el :TE»FT%

Flutes are clogged with chips / e & HRU {cH &1 8 T 8

What will happen if the spindle running out of centre while driling?/ 3|4 I31?’i‘| F TR s Iz
Q 18R =9 T a1 1 g2

A

B
C
D

Drill will break / fgel g€ STg

Drills are over heated / {3 318 7 8 Smam

Drill make rough hole / %awﬁaamﬁ g

Oversized holes are made / 3f9® 3MHR & VG & I &
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45

46

47

48

49

50

What is the effect of excessive application of abrasive compound in lapping operation? / afei
SRR & STeNe U EH & i ITaNT &7 31 THg

Developing inaccuracies / 3R] &1 fadr &1

Bright spots will be visible / ST ye s 271

Obstruct component movement / I¢d HaHe &) 1fed &3

Lapping compound will be sticky / AftT SUrdE Rrafear g

O 0O w »r

What is the cause of water dripping from the tap even after closed? / §¢ 89 & a1 Y 77df § gt
U BT R HRT 22

Defective washer / atsrcgnfa"r’m

Spindle thread wornout / fISd 2 forg ST
C Bend spindle / RIS &1 4s ST

D Loose valve / Bid aTed

What is the remedy if the spindle rotates continuously so that the gate valve is not closed? / Tf¢
dH el TR YHAT ¥e o T1e ared sig 7 8 df &1 3urg 22

A Replace the valve / dTcd F&d

B Tighten the gland nut / TS 7 &) & &

C Replace the wornout part / T 9o UIé &l gga

D Renew the gland packing / 718 BfehT Y Fdl-igpd 3

How the mechanical properties of steel like strength, toughness, ductility are affected? / &Id &

i 1l SR Wy, fasTor, Sfieddt 3wl 8 2

A By tempering / CORT & GRT B By hardening / BTS[TT & gRT

C By annealing / Tl & RT D By normalising / ATHTSSNT & gRT
Which type of filter helps to protect the pump from fluid contaminations? / {6 J®R & fthees T Uy
& IR Jardf & gfid 81 A 59 A vag fad 2

A Suction filter / T fthee B Magnetic filter / a1 ftheex

C  Absorbent filter / Tsdiae fiheex D Mechanical filter / HbdHd ftheex
Which part of double acting cylinder prevents air leakage from cylinder to atmosphere? / S8 Ufae

Reier &1 B 1w RidieR A argrisd & ga1 & Ra@ & Jwar e

A Piston seal / e i@ B RodSeal /€
C Piston end / U T8 D Rodend/ g g
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PLUMBER
Total Marks: 150

Attempt all questions Time: 1 Hour

What i the material for body of bench vice? / & dT5d @1 sfel & & T Tt &1 82

A High speed steel / 8T8 &g Tl B High carbon steel / 8% dTa ¥Id
C Medium carbon steel / HIfgTH HTed Widl D Castiron/ HRC 3O

Which type of half lap joint is allowed two part of a job cross each other at ends?/ {59 UHR & 8%
AU SiTge Bl U S b o1 el &) U g & 6K &) UR B BT A 87

A Cross lap joint / 19 AU Sige B Middle lap joint/ fif$d du Siige

C End Lap joint/ T8 QY Sige D T-half joint / €1 -8B Sige

Which type of flux removes oxides on base metal surface? / ¥dle 5T UBHR &1 YR 4T @1 gdg
TR HTRIZS Bl el

A Inorganic fluxes / @TadH SUTTT B Organic fluxes / STdMd URISI
C Resin /MSH D Talow /a3

What is the name of joint that has threads on both sides of the central piece? / Slige &1 A Al %
v Fedla G & Sl RS ol &2

A Barrel nipple / SR@ U B Double nipple / S&d fAud

C Reducer / Ig&R D Socket/ Hidhe

Which type of pipe cannot be laid in exposed conditions? / WUl fRufaal # ¥ UR &1 Uy
e o ST Uahd 87

A Steel pipe/ ¥id uRy

B Castiron pipe / @< AR URY

C Asbestos cement pipe / TR dide gy

D Galvanized iron pipe / feamTgS SO Uisy

Why the water seal is provided in the gully trap? / Tl ¢U ¥ UFY &1 id &1 &1 718 L4,

A Prevents the foul gases entering / wﬁﬁ%uﬁmaﬁm%
B Waste water entering freely / O ! Wad U 8 Jag &1

C To save quantity of water / UIF! @1 AN CAEIESATIY

D To prevent unwanted insects / 3faifesd DIl ®! e & fay
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11

12

13

Which test is used to check the straightness of sewer pipe by placing a lamp at its one end and

other end by reflection of the light? / U&TRI & URTdd gRT 2T® U6 RIY W o T T RR W
SR HaR U150 b1 Tres o) Sif e % Rorw s a7 wlarr R Srar 22

A Smoke test / {31 Tierm B Airtest/ Uq G&u

C Water test / 5Td TRY&0r D Mirror test / fBRY tiemn

Which type of joint is used for joining big diameter concrete and asbestos cement pipes? / EI?:’ 25
& FPIC AR Ty Hie Ut B e & R g ueR 3 st 31 Sgan R s 22

A Flanged joints / YIS Wigcq

B Screwed joints / ¥pds Tsﬁ%‘c‘ﬂ

C  Collar joints / HTeR Sgeq

D Lead caulking joints / &8 Bifedhl Sigeq

What is the instrument to find out the quantity of flow through pipe line? / IT3T &3 & AILH T YdTg
I AT BT Ul T & forg T oam 22

A Odometer / 38R B Anemometer / TR
C Clinometer / &R D Water meter / dTex Hiex
Which type pipe fitting is used to connect a service pipe and awater main? / 9fdg Ursy 3R Ut &

T HIT bl SiigH & 7T for UopR &t urgy T o7 SuanT fsay S 22

A Coupling / FUfefT B Elbow /Ucd!

C Ferrule/ b&d D Reducer coupling / Y8R ®UfefT
Which marking media give very clear lines but take more time for drying? / I ¥ 31 Hfgar sga
WY 13 <l ¢ At G 1 3ifie gug dar 27

A Copper sulphate / IR The B Celllose lacquer / SeJeS AR

C Prussian blue / RIS & D White wash / ®T3¢ 41

What is the application of inside caliper? / 3{a3 HTTR & e a1 22

To measure external measurement / STgX! HTU &1 {9 & faw

To transfer measurement from steel rule / ¥Td AT I 7Y RIFTIRT $39 F ferg
C To measure internal measurement / 3idRd AT B HTIA H feru

D To mark lines / €3I @ ffgd &= & forw

w

What type of solder is used for soldering in heavy (thick) metals? / WIS (el urqaif & Wesfin &
foTu {9 UeR & Oicer &1 Iua a1 o7 22
A Soft solder / IIF Hitax B Hard solder / TS Hlte?

C Coarse solder / ®IY TeEl D Fine solder/ g Tt
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14

15

16

17

18

19

20

Which inorganic flux is used in the form powder or mixed with water to clean the iron or steel

surfaces? / T8 1 e $ Uda! B T Y ¥ T B T 3BTRS Ty TISST & =4 H AT arAl
¥ fererra S 82

A Ammonium chloride / 3MFTH FARTZS B Zincchloride / Nidh TR1SS

C Phosphoric acid / BIEhIR® TS D Hydrochloric acid / g gaiie URIS
What is the advantage of cast iron pipe? / BT SRR & UTZUl F1 3 BHal 87

A Less corrosion / H ST B Rarely available / &H JUcI&dl

C Costly / HgT D Crack easily/ 3! & Ha BT

Which material is used to make ferrules in dual system of treated water supply”?/ REEIRGISH Sﬂqfcf
e vuel B e S % foru b et s IoinT faban S 82

A Lead/ds B Steel/ 38U
C Brass/Uldd D Bronze/ HiE

Which is the advantage of water supply in intermittent system? / 3fid=1fes Foumelt # Tr B MLk
BT TH DI 91 37

Water can be supplied to high level areas / Sicl T T el & ot a{rq;ﬁfaﬁ ST Hebcll

Water has to be stored for non supply hours / 51 TR 3mgfi ¢ & faw $ueid &1 & fae g
Size of the pipes are required to be larger / UT3H & R &1 BT HI TS 8

Size of the pipes are not required to be larger / i3l &1 MR E_S'TBPFH 3ITH Tel §

o O o F

What is the alloy of soft solder? / Tt TeeR BT fHsfeTd & 8

A Lead and copper / T 3R dfal B Lead and bronze / 1S 3R &&
C Lead and silver / 17 3R =i} D Lead and tin / 917 3R fe=

Why the A.C pipe should be laid with precautions? / A.C. UTgU &1 WatTHAT & HX i @ H
BN

More shock resistance / 32 e TiaRIY

Less shock resistance / ®H ] PIRRLS

High shock resistance / 3@ C®l el

Medium shock resistance / TeH Fea! HfaRIY

o O w P

Which is used in a cast iron bell and spigat joint? / BT SR et R fmiie wige # fwdt Iuah
faar i 22

A Union / g B Socket/ Hide
C Solvent cement / Tlede HiHE D Hempyarn / §U TH
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21 Which pipe fitting is used to connect two pipes of different diameters at an angle of 90°? / 90° &

B0 R Faf¥re r & &) sl ) e & R by ars Rfer &1 Swa b o 22

A Coupling / ®YfeiT B Reducer coupling / Y8R HUfT
C Reducer elbow / Y&TR Tedlr D Reducer tee / IR ¢
22 What is the use of NP1 hummed pipes? / NP1 gHE UIgU & GU@“TW%W
A For drainage use / $1 a?G’ERJ\TT['&?%Q B Forgravity mains / ofadt i & ferg
C  For pumping mains / UfRiTT &= & forw D Forhigh pressure / 8T8 UER & forw

23 What pump is used for small discharge and high pressure head?/ 8¢ fided 3R 3= ¢ald a1d &2
& foru fov du 1 SuanT fasar o 22

A Centrifugal pump / SIHRTE G0 B Airlift pump/ TR fofte dg
C Rotary pump / et U D Submersible pump / GeHRiEd 4y

24 Which tool is used to align and drive the hand taps correctly into the hole? / ¢ H Tel ST 4 8 &
T BT WA B 3R TEH & A 6w Iuaor o1 IuanT fearsrar 22

A Pipe wrench / UI3Y &g B Screw Spannerﬂfg'"@ﬂ?
C Tapwrench/¢u g D Boxspanner / ST W)

25 Which trap prevents the entry of the foul gases from the municipal sewer into the house drainage

system? / & |1 ¢ TR A & Wer & ¥ & 31 R § 74 719 F 13w &) Aot 22

A Gullytrap!ﬂc—\:ﬁaﬂ B Floortrapi‘ﬁﬂ??q
C Bottle trap / S1qcl g D Intercepting trap / Se3AMT &Y

26 Which controls the unauthorised connection in pipe line? / UgY <l H TG A DI DI
fafa #var 22

Less water pressure / Ul &1 &H a9

Metering supply system / HefT STgfef ot

C Bad joints and connection / WXTd Gﬁ?ﬁ»’ R FATA

D Increase water pressure / JTH! &1 Ga1d §gIJ

w

27 Why dry sand is filled before bending the pipe by hot bending method? / TTH af=2T fafly gRT Uz &t
ST & gga It Ya @ o7 St 22

Preventing the tube from cracking / &Jd ! ge- ¥ AHAT

Preventing the tube from lengthening / SJ& B! &aT &1 T e

To avoid colour change / 37 URddd § T97 & forw

To avoid formation / T3 ¥ §a & fag

o O W >

- Question Paper - Page4/8



28

29

30

31

32

33

34

What should be used for making leak proof, in screwed joints’?!aﬂﬁﬂ sig! #, Rama TP S @
fere & Iugh fobar s anfgw?

A Hemp yarn / 8/ I B Solventcement/ Jicdc diHe
C Petrol / UdIcT D Diesel /STl

What is the procedure to prevent crushing or bulging of pipe while hot bending? / mf IR F ERE
UI3Y 1 BRI UTIHR H e & fore a7 ufdhan 32

Compacting, plugging, filling, heating / BIRfaT, @i, ffim, e

Filling, compacting, plugging, heating / fOfef, m"rﬁﬁn @, gifén

Heating, filling, compacting, plugging / Bife, ftsfei, Hirafa, @i

Plugging, filling, compacting, heating / mﬁm, fipfeq, ?ﬁﬁﬁﬂ. WTT

o O W x

Which type of closet, pan and trap are constructed in one piece? / U6 THS 1 [ YHR B FidIC,
B9 3R ¢ &1 i fasar smar 82

A Rural pattern / ¥d Ue B Long pattem / @a U

C Orissa pattern / 3T e D Integrated type / SCRICS TRY

What is the pressure maintained in the pipe lines at fire hydrants position if pumped through motor?

/ afe Arex & Arery § Uy fpan ST 8, A oY grese fufa A Uy efsl g1 fabaT gara A fobm
ST 82

A Up to 7 meters head B 7to14 melers head
C 15 to 30 meters head D 35 to 50 meters head

What is the remedy to remove accumulated air from water line?/ ATcR a4 § Hied arg &1 Herer
T 13U 72

A Check valve / 9% dlcd B Sluice valve / &[¥ dlcd

C Air relief valve / TR Relith dled D Pressure valve / URR dled

Which is the device used for tapping water from mains for fire fighting? / 3H<HA & T A ¥ Uil
& aig & fou b SuHRur 1 ST faar airer 82

A  Sluice valve / T3 dlcd B Fire hydrant / BTR 8BS¢

C Fire extinguisher / BTaR TaRICTYRR D Fire engine / BTER 39

What is the advantage of air testing? / T TRI&fUT T & T1H 872

A  Low expense / ©H Td

B Needs more water / 31 urHl B SEd %

C Repairing easy / 3{THIH HIHI

D Same pressure in all parts / §ft 4T H U €1 gaTd
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35 Which pump has a piston that moves in a cylinder for pumping? / {7 U & fie glar g il fds dfti

36

37

38

39

& forg RycieR o Terdn 22
A Centrifugal pump / STRLTel U B Reciprocating pump / IR Ug
C Rotary pump / et Ug D Booster pump / ¥R 1Y

How to achieve a good solder joint? / T 33T Tice Wiec SU U aidl &2

A Use solder with high melting point / 3= fUerd faig & Ty Tieey & WAl &Y
B Prepare metal edges clean / YTq & f&R) & A B

C Correct solder and flux to be selected / E‘s"[?ﬁ@ 3R UdTE @ T B STl
D Use solder with low melting point / ®H fUTrei fag & T Freet & WA &

Which precaution is to be observed while cutting threads in G.1 pipe? / G.| uzy A QS\H HIed Iy
B W wEHy B wide s AR

A Clean the thread with a wire brush / I3! ®! U% aRR 1 I I B

B Apply a soluble oil / gar=fid dd wmQ
C To turn the die stock anti clock wise to break the chips / il B! dTe+ & foiu 318 Wi HI et
ENIEAGIEC R FCE

D Apply little pressure to the die stock / 315 WId TR U] e 3Tel

Which bicarbonates are the reason for temporary hardness of water? / U1 @1 SR &3 Rdl &1
PR D Y TEBEAT 87

Sulphates / ¥ehe

Calcium and magnesium / HfeRaA 3R FHRTH

Chlorides / FRIRTZS

Nitrates / T3¢cd

o O m >

What is the reason for metal surface to be cleaned before soldering? / HITsRIT H3- & Ugd H1g G4l
e B HI B BT SR A 32

Keep surface to bright / 908 &1 Iwad T4

Easy handling of the soldering iron / EidhT @8 @ 39 gsfem

Solder will never stick to a dirty surface / Ticex &4t 1 71dl 9ag o 78Y e

Proper amount of heat absorbed / THf & THfd AET 3@fia

o O W P
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40

41

42

43

45

Why the cylinder key is not removed from the cylinder during welding? / afesT & R Ricist @l

et Ryt 8 &t et feprelt ot 2

A Itis meant for either work also / T8 Wl HTH P T

B In case of emergency it helps to close the cylinders quickly | {TaTT Rufq & ArAe o T8 Sed! q
e & dig FHeA H Hee Hedl B

C ltis used to balance the regulator operation / I8 I HTRRM o e & g ya fasar
SIS

D It can be used as a small hammer / I8 U% Bicl T gUIST & &0 B XA a1 &1 Gabdl

What is the reason for damaged spindle in bench vice? / 8 argg & eifdur fRigd &1 HR &1 82

A Bent on spindle lever / f&ISd diaR TR s

B Over tightening the vice / 3if¥e a1d & 31 HE3 R

C  Without using the clamps / FeIFT &1 I farT fom

D Wrong handling of spindle / RIS &1 Tiad SaTa

What is the formation on iron and steel caused by moisture and oxidation in atmospheric condition?
| arFS e Ryfa & 7 3R Siffieur & SR dle 3R ¥ Raan Affa g e?

A Scaling / Wh T B Rusting/ IR

C Pitting/ sjiree D Erosion/ 3U&RUT

What is the defect of slow and continuous degradation of metallic surface by chemical reaction? /
e fufar gRT enfdd Tag & e 3R FAaR eRu &1 3 82

A Corrosion / 7T B Erosion/ 3MO&RUT

C Lamination / BRI D Contraction / §Ho

What is the rectification to solve inadequate pressure in multi storey building? / SEHIT ARG H
3T ad B &6 B B (Y 1 IUM 72

Repaint the pipe periodically / §H9-9HY IR Y &I b ¥ a1

Replace the defective section of pipe / U3 & GISYUl ST P! gt

Install one pipe throughout first to fourth floor / TEal I TNl AT A% U Uy R $Y
Replace with variable size pipes as each size pipe for every floor / T Hiod & [ U@

THR & U3Y & T H URTd-G 3HR & Uiy I dad

What is the reason to use hemp packing on pipe threads? / U3l Q?EI W %FCI U B IUET B
&I HROT FT 87

Sealing pipe joint / UTSY & SIGI & Wifei & fag

Prevent corrosion / ST @1 & & 1T

Easy repairing / 3{_ITH HIFH

For a rigid joint / U &g I8 & oY

o O m >

o O w
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46 Which is provided to reduce the effect of water hammer? / dTeX §AR & UHTd B HH HRA b [l &l
T faa SiTa 87

Air relief of smaller size / B¢ PR B! IR Agd

Stop valve in mid pipeline / 78 U3UdATS H dTed ¢ B

Surge relief at outer end / A8 BR TR Tol Agd

Valves not installed in pipeline / dled UI3UART H R0 -TE?I%

o O W »

47 Which is used to magnify the noise to locate the leakage in pipe?/U3d H R&Td &1 gdl eTH & forg,
TR DI §gH & [T foraesT S fsar sirar €2

A Osmoscope / T HHRHT B Sonoscope /| TS
C  Micro phone / HTZh! I D Decrease meter / Hiex HeT3fl

48 Which tap is preferable while hot and cold water supply is available? / TH 3R & UM &t Syl
JUAR! B & R HIF IT e dga 22

A Bib cock / fdd e B Stopcock / RTUHIb
C Mixing tap / fiifdd eg D Waste - nottap / 3&-Aic &4

49 Which sanitary fitting prevents the passage of foul gases from the pipes to the outside? EaCk:!
e fibfem urgy | aex @t 3R 7ie 7 & uild 8 &l A 22
A Door bends / SR 5§39 B Ventcowl /dc &I
C Foot rest / e & D Traps / ¢&

50 What is the cause of centrifugal pump loses prime? / I [GTd TR o ol WIgH &1 HRU 187

Air leak in the suction line / VUl @2 | gaT &1 4@

Air leaks in the delivery line / f&efiadt @z & a1 &1 frarg
Insufficient suction to lift / 3314 & ﬁﬂ[ T Ja
Defective switch / Eﬁﬂ'{”’f fega

o O @
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LEATHER GOODS MAKER
Total Marks: 150

Attempt all questions Time: 1 Hour

Which tanning involves in finishing? / RERITRT & w1 &t 2R wftra g1t 22

A Pre tanning / 9t 2T B Post tanning / URe ¢
C Vegetable tanning / afSTedd e D Alum tanning / Y@ T

How to maintain kattai leather in cold climate? / 38 HIH H $%3 B THS I T@Wd hd He?
Sprinkle water and wipe / T [38® & Ui &
Wipe with scrubber / %hs ¥ U5 o

Wipe with diluted Acid water / Tddl RIS gdd Il I Ui o
Wipe and Expose sunlight / U1 3R IR &1 A= H TG

o o w »r

What is the name of resin finish? / IR A< &7 Am0 T 32

A Dye finish / 318 flofw

B Pigmented finish / e hfAwr

C Dye pigment combination finish / e73 e sifeeH e
D Antique finish / T<1d AT

What is the purpose of burning test? / ST U1&101 &7 3239 A2

A Find formaldehyde tanned leather / HIHCS8I3S 8 aHS P Udl T
B Find alum tanned leather / TTH ¢78 W& &1 Ydl @Y

C Find the VT or CT Leather / dTd} 1T Hidl @& &1 udl A0

D Find hair on tanning leather / ST 9HS UR &1 &I dl 7Y

Which is leather substitute? / THE T fdeed S 1 82

A Polythene / Tiferd= B PVC./drdrd.
C Pore foam / GR BIH D Cloth /TSl

Which machine is used for making leather wallet? / ©aR dide 1= & [ fa =i &1 Iuam fasa
ST 82

A Cylinder bed machine / RideR o8 a9 B Zgzag machine / fSronT mefiA
C Flatbed machine / HIE 58 HRIH D Over lock machine / 3fiaR @i T
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7

10

11

12

13

Which fitting is used for easy opening and closing of leather goods? / THS % TTHH I Elel 3R
§¢ B & AU fov fbfe a1 gy fasam s 29

A Lock/didH B Hinges/ e~
C Frames/WRI D ZipandRunnerf’Wﬁh‘{W

Which part cut the leather in strap cutting machine? / I e A=A H THS B ST 4T HIed

2
A Width adjuster / fdgy TawRex B Feedtray /®IS¢
C Blade roller / &g AT D Blocks | ST

Which part reduce the leather thickness in splitting machine? /il o o ﬂﬁ%‘ &I AIeT &
DY HIT HH BT 27

A Pressure roller / UIR R B Thickness adjuster / &9 TSorex
C Feed roller / BIg AeR D Band knife / §3 AEH
Which material is used for ornamental work? / Toae! &1d & fow 6T gt &1 Iugi fobar sirdn

&

A  Split leather / Ttee Ag3 B Oil/dd
C Paints and Dyes / U¢ 3R 3154 D Wax/HH

Which material is used for vegetable tanning? / Asiiesd ¢+ & fora b Tmedt &1 ua fobar wirar
27

Chrome powder / IH TT3S

Salt powder / FH® UI3S3

Wattle extract / dTce] URCIH
Sodium bicarbonate / FIf$TH dZHEMAT

o 0O W >

Which part of the leather is used as first quality? / THS & H1 3 R T ITUNT WyH Ui & &Y
o T ST 82

A Neck/TReA B Shoulder / &1
C Belly/Ue D Butt/ s

Which process is used in convex and concave fold? / 3Td 3R 3add dg & o fovd ulbar &1
I o 82

A Cutting process / e B uishar B Stitching process / RId 3 ufsha
C Punching process / e ufsan D Folding process / a8 Wisd
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15

16

17

18

19

20

21

What is the use of template pattern? / ST UeH &1 IULNT a4T8?
A Good finishing / 33T fUsART B Increase production / TG E[AlY
C Increase quality / T[0Tl §GTL D Increase man power / B UIGR a1

Which machine allows a closed component to be around the working area freely? / P It FRiA
T & UCH DI B &7 S HUR WolF T J A A 72

Cylinder arm sewing machine / Ryefer i Ryars 7=+

Post bed sewing machine / URe 98 ﬁﬁﬂ? ERE]

Skiving machine / Th13fd #2fH

Flatbed sewing machine / TRie é’igﬁﬁﬁp BERIE]

o O W >

Which tool is used for buckle attaching process? / b dl et e & F(’TQ P IUBH BT U
feaT SraT 82

A Screw driver / U d B Hammer / 5UTST
C Knife/dd D Sets square / ¥¢ WHAX

Which process is required to colour on the material? / TTHH TR HA & 10 1 Tt Uidhan Sf1aadh

G

A Dyeing/ 3137 B lroning/ 3l

C Polishing / TIfaIfRiT D Embossing/ TRIRAT

Which leather used for gents belt? / Sied See & 1T g =g &1 3ud foban STl &7

A Synthetic leather / HIFH THST B Waste leather / 3UfRI¥ THSI
C Kattaileather/ ﬁﬁf ALl D Suede leather/ HlE} ﬂﬁl%

What is the advantage of leather substitute? / TS & fddbed $1THIICT T )

A Hardness / B3Rl B Water proof!ﬁﬂil%
C Elasticity / Tl D Plasticity / @feRydl

Which testing method applied for colour fade? | HTR 8 F U@ i SRET Ays T 8l 82

A Wet rough fastness / d¢ TP BREAH

B Tensile strength / d-4dT dldd

C Burning test/ g uiefor

D Water absorption test / 51d SO TRA&0T

Which part is used as single line creasing? / RITTE TE= % =0 7 5 W 1 SuaT faba St 22

A Middle of component / €& &1 HE B End of component / Ice T 3id
C Trimming edge / f¢fHTT T D Lning/ fafm
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22 Which leather substitute is used as reinforcement? / SZpTale & &0 & fhg a0 & s &1

23

24

25

26

27

28

SUTNT f3aT AT 22
A Banian foam / SO B B VT Leather/V.T. 9Hgl
C Goat nappa / TTe AT D Sheep nappa / 2T 1T

What is the function of the pressure foot in a sewing machine? IQEFJWEF R H aQRUg_E PP
8?

To hold the needle / g8 UH ST

To hold the pressure bar / IR IR & UheA & T

To hold the material for stitching / RieTS & foru armht @ v@e & fiw

To feed the leather for stitching / s & T 902 weH &3 & R

o 0 w »

Why lubrication is must for machines? / A=fH! & ferg S o 8- =1few

A Machine gets shined / H2iIH TH® Wt &

B Avoid changing of parts / 4Tl &1 §ge & &

C Machine life increased / H2MH &1 3™ dg Tl§
D Avoid extra man power / 3ifdf¥ad 79 TR I &

How to fix hinges in leather goods? / THS 3 TTH # fawst 1 3 v b o 22

A Fix with nail / Pia I fohag B Fixwith rivet / Rde ¥ fag
C Fix with screw / U9 ¥ fhag D Fixand Stitch / e 3R Ryeré

What is the advantage of doing thonging work in leather goods?/ 7S & THMAT & 4T S B
1 TS 1 7

A Good appearance / 33 IURYf B Good quality / GiifUIUIEﬁIT
C Long life / @aT SiigA D Water proof / TERIYEH
What is embossed leather? / 1T 31T THST (TSTY wa) &7 32

A Screen print leather using inks / ET8! BT 3TN H3d 3T W1 e A

B Stamped leather using heat and Pressure / &8T 3R GaTd & I09NT Ha Y ABER qHG]
C Suede leather using velvet finish / AGHT TH BT IUTNT FR TTa aﬂ‘%

D Waxed leather using wax and Dyes / 3f@RITT THS 71 3R 71 &1 Iugh a3

How to maintain the bottom of bag from damages? / BT a1 & Fad B &) H9 T@m?
Use small studs / BIe T8 &1 IYTNT B
Use medium studs / H&TH &8 BT JUANT B3

Use correct size bush / g1 #THR & ERyl &1 IUIIT HY
Don't use studs / 8 T I 7 B

O 0O W
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30

31

32

33

34

35

36

What is the use of auto sprayer? / 3{Te BRI BT JUTNT T 87

A Medium production and Moderate finishing / HeH Sare IR HerH bR

B Less production quantity / H 3dTgd HIAT

€ Mass production and Elegant finishing / §& T TR JaiTe AR iyl bR
D Medium production and Ugly finishing / F&IH JdTaH S?R?fl'ﬁﬁ@ﬂ AR

How to measure the tensile strength? / &= ifd @1 B AT
A By stretching / &[T & gRT B By loosening / @M & gRI
C By rubbing / T3 & D By soaking in water / gy A @R

What is the size of zip selected for laptop bag? / Auety 817 3 e R &1 Ts &1 32
A 3mm B 5mm
C 8mm D 10 mm

How to operate clicking machine? / faafds HiA ¥ Hetferd Y2

A Bysingle hand /T®H &Y ¥ B By both hand / QI 819
C Bysingleteg!Q‘ﬂv‘aT“v:T D Bybothleg!ﬁﬁﬁ?@

What is the use of embossing machine? / THITET T ST IWT &7 82

A For skiving the leather / TS B! WId IR & feT

B For stamping the leather / ﬂn@ ¥ geX RUIGEEATIY
C For splitting the Ieather!ﬂﬂ%ﬂﬁﬁlﬂﬁﬂﬁe{;ﬁm
D For clicking the leather/ ﬂﬂ@%a’:ﬁ%m

What is the purpose of strap fittings? / %0 BT &7 322 &1 82

A Improve quality / T[0Tl FUR
Decorating / 9uTdd

B
C Long durability / T F7Y e b3
D  Short durability / BH THY & e fehrauA

What is valise? / 3fer a1 27

A Wallet/dfeie B Tnk/Td

C Suit case / geHy D Ladiesbag / AfZ@SH &1 a7
What is the use of foam extinguishers? / T TRITETIRR &1 Y0 &1 82

A Liquid fire / ael 3T B Metal fire / &Tq &1 3T

C Electric fire / [aggd 3mT D Wood fire /! ®1F N
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37 Which material is used for dry salting? / Gt @™ o o forey ITaElt 7 SUaNT e e 2

38

39

40

41

42

43

A Salt/TH® B Lime/ AT
C Naphthalene / JGdlT D Carbon powder / e UI3E3

When epidermis are removed from hide and skin? / TR 3R @a1 ¥ g vftefifa &) gerr s &2

A Vegetable tanning / aforead efr B Chrome tanning / %IH &
C Posttanningitﬁﬁ'éﬁ?i D Pretanningf‘;ﬂé[i‘ﬂl

What is the purpose of punching hole in the leather component?/ dHé & Heh H f3g de & RERU]
w1

Tagging purpose / ¢11 - & g

Lacing / fim & forg

Rivet and Eyeleting purpose / idd 3R RSRAEE] A BT Gﬁ@l

Fancy ) Ty

o O m »

Which work does the spirit colour comes under? / fRIRke &1 31 g ST F Sidtid 3mar 22
A Embossing / THIRIT

B Paints and Dyes / U iR 8 '&Fa.

C Cut out work / &C 33T b

D Tooling and Carving work / €& 3R bt

Which material is used for suede leather cleaning? / HTsR THs &l GBS & foit f5g gl s13ugm
e e 22

A Abrasive paper!&@ﬁﬁm B Water / OTHI
C Rubber/ TR D Methylated sprit/ firiTgeics e

Which grindery material is used to buckle fixing? / & fOsfaT & fou fHg orEed gyl &1 3ughT
foha ST 82

A Nail /& B Eyelet / 3R T
C Rivet button / Rde Fe7 D Press button / TF §¢9

How to preserve long stored V.T. leather? / Td THY A% JURIT G} T3 & B4 W[ H2

A Dipin water / O § §d1 &%

B Wipe with diluted preservative and in sunlight / ST uftReres 3 gzer 3 At & oy
C Expose to cold weather / $8 % HIGH J UHT HAT

D  Wrap with polythene / Tiferdt= @ @ue
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45

46

47

48

49

50

How to adjust the width of straps in manual strap cutting machine? faﬁ,dfﬁ @Wﬂﬁﬁqﬁm
B! AST8 hY JHAINT BHY?

A By adjusting the blocks / e THININT B

B By adjusting the pressure / ZaTd &I AN &b
C By adjusting the gauge / 5T &1 THANNT &R
D By adjusting the feed roller / B8 TR B! TATINTT Hh

Why edge colouring done in leather? / X ¥ a1 TsT dheif{rT fba1 STl 22
A To measure leather / THS & AIUA & fo1Q B Tofold leather / THS B HIg A% fog
C To change colour / 3T ¥geH & ferd D Toremove colour / 1 8¢H & fefT

How to check the dimension of finished product? | TR JTE & SHTATH BT T FA B

A Using steel rule / WId B &1 IUANT HIb

B Using measuring tape!ﬁﬁﬁé‘qﬁmm

C Check by using the sample / S &1 el ¥ SIid HY
D Using thickness gauge;’mﬁ'\?{ & TN IRh

What is the durability of the leather article? / THS & % 1 R #1872

A Less durability / HH (1< B Moderate durability / HeIH {1
C Negligible durability / 3 R D Long durability / de THY ad RIS

What is the use of splitting machine? / TfeeT Tef &1 I @I 32

A For cutting the leather edge / TS & Tl B Bl & U

B Reduce leather thickness at edge / fF R T TS $I HICK HHHY
C Reduce full leather thickness / ﬂﬂ@?ﬁ{ﬁmmﬁ

D Cutting full area of leather / TS DI R &3 1Al

Which leather is used for industry purpose? / SEINT & 32T b for T &1 IudiT foaT STt
&2

A Suede leather / TTaR THS B Sheepleather/ U F1 IS
C Upholstery leather / /ST THS] D Snake leather / JTY &1 aHSI
Which is included in designing? / F&emf & @ i giar @

A Purpose, Materials and Fashion / 3%32?1, Tt 3R VeRIE

B Cutting, Punching, Folding / ST, &% ST, T8 ST
G  Purchase, Making, Marketing / @ie, fafor, wrbfe
D Finishing, Packing, Forwarding / sffRi, B, wrdfEm
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MACHINIST
Total Marks: 150
Attempt all questions Time: 1 Hour

1 What is meant by ‘Lower deviation' in BIS system? / BIS Rited # '&¥ faa" &1 &1 Adwd 87

A Algebraic difference between maximum limit and basic size / 3fiepad fofie Gﬁ?ﬁﬂ HBR &
T SIS 3idR

B Algebraic difference between minimum limit and basic size / A felHe 3R T PR &
ot oo 3R

C Algebraic difference between maximum limit and minimum limit/ 3ff¥mad faffe ShTQEFﬂ-T
ferfire & s Aoy siar

D Algebraic difference between basic size and upper deviation / T& STHR 3R U< fA=re &
CIEEIEUIGRERN

2 Which term used to indicate external dimension of a component in BIS system of limits and fits? /
feifire ofR fthe & Saruy R § s ved & 168 3mam &) Sia S 3 o fohw 2eg o1 Jua
fepa STt 22
A Hole/®d¢a B Shaft/ A
C Deviation / fa=eH D Tolerance / GgAiieidl

3 Which type of knurling tool has got one roller right hand helical teeth and others have left hand
helical teeth? / fip TR 3 AT ¢ & U AeR S1RA 814 b TR Ga 8l & SR G- & ST g1
gftrd aid gid &7
A Cross knurling / 314 AT B Concave knurling / 3faad AT
C  Straight knurling / eft AT D Diamond knurling / STIHS Al

4 Which type of tool head is using in precision slotting machines? :'EIIQEZQE&HI wiren geiiAl o feg
UbR & 7o 83 Bl IYANT 3T Sl 82
A Plain tool head / 1a] IUHU RR
B Rotating tool head / guiH IUaUl R

C Extension tool head IW%"‘«’FTEK'T 5
D Relieving tool head / JT8d & dTall ¢ S

5 What type of milling cutter having teeth on periphery and the cuting edged are placed on a conical
surface? / frd TR @1 ffei ez o uRfd W 3 81 8 9k 3¢ gU f5IR &) YR Hefg | @l
ST 87
A End milling cutter / 3id fRfdiT e
B Plain milling cutter / TTaT AT ®e
C  Side and face cutter / T3S 3R ¥ P
D Angular milling cutter / Hofy fAfeT der

- Question Paper - Page1/8



10

11

12

Which type of machine is used to produce a T-slot in machine tools table? / F=fiH S cEa ® dl-
¥iTe S & R 59 TR 3t w27 &7 30 far s 22

A Lathe / TRTC B Horizontal milling / &fat firfef
C  Vertical milling / Seafer farfeim D  Driling machine / f&fei g

Which type of chuck is used in a CNC lathe? / HITAE} @R1E H 60 UHR B 9b BT IunT far S
82

A Two jaw chuck / & F88] I B Three jaw chuck / diF SI&g dd

C Hydraulic chuck / B3 SIfie T D Four Jaw chuck / IR S&Sl I

Which motor is used for table movement on CNC milling? / =t el o Saet gawie & for fopg
HeR 1 IUTNT fawan Sar 22

A Spindle motor / fRIgd AR B Hydraulic motor / B8 &Ifeid HIeR

C Coolant motor / Qﬁ?ﬁiﬂ D Sewvo motor/ ¥al HIER

What is the use of slab milling cutter? / T T Hex &1 IuaT a7 &

To produce gear / TR &1 IdTed B3 & iU

To produce dovetail / Sdcdl &1 IdTe i & U

C To produce slot / &il¢ &1 JdTe B3 & U

D To produce plain surface / HTc Tdg &1 IS B & fau

w

Which function is used for movement command in part program? / YT JR3IH ¥ Hade A8 & oy
g TR &1 IUTIT fhar ST &2

A Preparatory function / TRfHe% thaRH B Miscellaneous function / fafde tharH

C Speed function / Td thaR D Feed function / 18 BhaliH

What is the name of the instrument used for marking lines parallel to inside and outside edges? /
3R 3R SRR fHART & FHMIR Ya@nail & fafgd B3 & R Iw f5u a1 a1at Sueso a1 A
27

A Divider/ fgaEsR B Jenny caliper /S BfoR
C Inside caliper / 274128 FHeAR D OQutside caliper/ 313¢ G’EGW

Which device is used as datum while marking with vernier height gauge? | TR g18e T & 1Y
fafed B v g fears &) 31en & ¥u & Iuah fasar ST &2

A Face plate / th¥ @i B Surface plate / 3% d Wic
C Angle plate / Tffid wic D Driving plate / S13fdT wie
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13

14

15

16

17

18

What is the function of ratchet stop in a micro meter? / HTSgh! e 3 X2 T &1 b o 87
A Increases accuracy / TelFar deldl %
Strengthen the spindle / RUIEd ! Teigd B3

B
C Ensure uniform pressure / THIHTA Eﬂﬁﬁ@ﬁﬁ
D Keeps high pressure on anvil / Tf<d TR 3= Gald 3@l %

What material is used to make slip gauge blocks? / 10 st &if® SR & o far wrerdh o1 uaiT
ERURIGI

A High graded steel / 3= U438 g¥Td B High carbon steel / 3ad HTai S

C Low graded steel / 1% 333 g&uTd D Too steel / TAEIT

Which micrometer is used to measure the effective diameter of the threads? / TS B WHIA! ST I
T3 % fore fopg mrgepTEte” &1 IuaT fasa Sird &7

Depth micrometer / S HIZHIHICI

A
B Inside micrometer / STHISE HIZHIHICY
¢
D

Outside micrometer / 3T3cTSS HIZHIHIER
Screw thread micrometer / §f 318 HIZhTHICY

What is the code M11 defined by the machine tool? / HRi1H JUERUT gRI TR H1S M1 &1 82

A Coolant OFF | dic 3ith B Coolant ON / &&< 34
C Chuck close [ & d< D Door close/ EXdIST &g

What is the purpose of 'V groove provided on the base of universal surface gauge? fﬂﬁﬁﬂﬁm
9 & YR R 'V I BT 3520 H1 87

A Used on irregular surface / ffrafird Tedg U IudIT fabar W 8

B Used on flat datum surface / T STeH T8 IR IUGNT fear oiral &

C Used on angular datum surface / U STCH g TR I foh STl 8

D Used on cylindrical datum surface / STIPR SIeH g msﬁmraﬁﬁm

What is the function of driving mechanism in a slotting machine?/ TTTeT A= B rafam o &1 &
177

A Converts sliding motion to rotary motion / TATSTET Tt a1 ey i & wRafciet 3

B Convert linear motion to oscillating motion / 3f&e T &1 sifRyafen mifa & uRafda &

C Convert oscillating motion to rotary motion / qiafela i a1l iy & uRafdd &

D Converts rotary motion to reciprocating motion / TeTa! T bl ekt T Tt Bl %
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19 Which type of attachment is used for cutting helical threads and gears? / gicibe QS\H 3R e bt

20

21

22

23

24

P1e & U 68 TR % ardemie &7 3o fsar wrar 22

A Slotting attachments / AT fcatie

B High speed attachments / 3= Ty 3iegiie

C Vertical milling attachments / af¢wa ffeh st=mie
D Universal spiral attachments / gf~aeid dftfe sregie

Which of the following material is more suitable to make crane hooks? / S+ gh I+ & fu
Fraferae & 9 ®i < wmht arftre Suge 2

A Tungsten / TTA B Castiron /S @rgl

C Steel/3WId D Wroughtiron / TT&T @Y

What is the purpose of quick return mechanism in a slotting machine? / Tl AL & fde Re
Heb ST BT T I 27

To reduce idle time / A% g &1 &1 #37 & forg

To increase idle time / FfsFT ¥7g 92 & o

To increase feeding time / 4@ THT 931 & forw

To reduce cutting time / BT 1 FHYT HH B P fo7U

o O o =

Which method of taper turning both internal and external threads can be cut on tapered portions? /
3R 3R STE<T G o) o g AT eR B i R Y 2 R T T R e o e 2

A Form tool method / B1H Z& fafe

B Compound rest method / HHT3S e Y

C Tailstock offset method / TaRele 3ithae fafy

D Taper turning attachment method / €0R 211 3regre fafey

Which natural abrasive is used to make lapping compound? / AT &UISE §H & fore b wrepfaies
STEYE BT ITGNT fohaT ST 7

A Emery /T B Diamond / STIHS
C Corundum / HRSH D Sand stone / ¥SEH

Which mechanism used to rotate the circular table? / F’éﬁf{ %aaaﬁgﬂﬁ & foTu 359 & &1 3w
e Sirar 22

Rack and Pinion mechanism / ¥& 3R ffae o=

Bevel gear mechanism / §a¢ iR =

Pawl and Ratchet mechanism / 3Ti¢ 3fRR Ufel &=

Worm and Worm wheel mechanism / @ ¥ a8 &el a3

o O W P
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25

26

27

28

29

30

31

What is the function of MO2 code in part programming? / MIT SIITETT 7 M02 T8 a1 T & 22
A Programme stop / UTH s
Optional stop / I{eud AP

B
C End of programme execution / UIUTH fHsqre &1 3id
D Coolant ON/&Hde 3T

Which type of micrometer designed to measurement of longer internal length? / &g UHpR &
HrsshHIe &) well 3iaRe dars [ru & fore fawrs farar mar g2

A  External micrometer;’?ﬂ_s’ﬁﬁﬁﬂﬁjﬂﬂ B OQutside micrometer / Mﬂi%ﬁlﬂ c
C Inside micrometer / 3TN AZHIHR D  Stick micrometer / f&& AZHIHI

What is the remedy to remove the black and shining face of grinding wheel? / TIEE7 @il & HTd
3R TAHER Y B! geH & oL 13U 67

A Changing of wheel / @1 P dgeA B Truing of wheel / CINEdl ;ﬁﬂ

C Dressing of wheel / @Id $ ST D Balancing of wheel / @Id &1 HJa
Which feed is given while sliding the column in vertical milling?!?m"ﬁa‘fﬂ? fhfef & Hiad ! WiLs
A AT HIF T HIS e S 37

A Circular feed / THR B3 B Cross feed/ Tid B8
C Longitudinal feed / 3G HIS D Vericalfeed / R B1S

Which part of a gear tooth vernier caliper is used to set the addendum height? / IETH s
frefffed v & ForT TR 2 g SRR & ot i &7 Suam b ST &7

A Vertical slide with blade / 518 % HTY HltR WFS

B Horizontal slide with movable jaw / T S&S & W1y &fas WSS

C Vertical slide and fixed jaw / FitR WES 3R RR wael

D Graduated vertical beam and fixed jaw / fIHIRYa FHeafer €7 ofk RR w&rs

What is the use of GO1 code? / GO1 IS T JUTNT FT 32
A Radius milling / B fafe B Concave milling / 3fada fafe
C  Straight line milling / et @ fAfeim D Index milling / Ga®Idh AT

Which is an advantage of CNC machine? / STt H=fiH &1 17 | &y 37

A High accuracy / 39 e

B Initial cost is high / TRfies dTTd S 8

C More expensive / fYH T

D Productivity depends on the programmer / 3Gl TR R AR W?ﬁ%
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187
A Feed/BIE B Depth /&S
C Hole position / ¥¢ & 4Ry D Shift value / I Heg

33 What is the property of lubricant to withstand pressure and remain on bearing surface? / qdid @l
T 3R UAB H SRR W T 78 % R0 g #1701 a1 &
A Flash point / G @& B Firepoint / 3 &g
C  Viscosity / TqTdT D Olliness / daa

34 Which method is suitable for worm wheel machining? / G &gie HRIFT & fw & 0t ) Suge
&

A Shaping / ftfT B Hobbing / BIfsiT
C Grinding / ATEf3T D Tuming/ M

35 Which code makes the compensated path to the right side of programmed path?/ B TIPS URIH

fohT T Y & arg SR erfagfef ver s @2

A G40 B G41
C G42 D G43

36 What is the effect while measuring if ratchet stop is not provided on micrometer? / HTUY &1 GHE
1 8 e AIEPIHICR W RIGE T uer et fbar s &7

Incorrect reading / TTeid Y&

Least count increases / 3cddD aa?ﬁ%

Least count decreases / 3edH® &Y gl old! g

Increases the life of micro meter / tns‘;ﬁ[ Hex & oaq &1 qeldl %

o o0 w >

37 Which tool angle is ground to prevent the tool rubbing from the work in a lathe? / @IC H 10 4
e aTd IUHT B A & RIT S 1 B B0 22

Rake angle / 3 BT

Clearance angle / I HI0T

End cutting edge angle / T8 Earell ugyl HI0
Side cutting edge angle / 1SS BT TGS HI0f

o O W r

38 What will happen if the carriage is not being locked while facing in alathe? / U & BRIT &g IHY
B P} @i 78 faran o 281 & o B

A Convex face / 30d by B Concave face / 3{ddd Bg
C Correctface/ H‘Eﬂﬂﬂ_ﬂ D Pip at the centre / % #fug
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39 What will happen if the datum surface is not perfectly flat? / IR SeH &I Idg EI\PF g |Had Tel

40

41

42

43

& dr & g

A Marking is accurate / 3@ Te1d g
B Marking is inaccurate / 3/&+ Taid &
C Surface finish will decrease / I3t ftpfgr geh
D Surface finish will increase / TRWY A it

What is the reason for the breaking of cutter while rough milling?/ WW$ aRT BT %gﬁ
BT HRUT T 82

A Heavy feed / Ul IRT B Low cutting speed / &1 ®1c &1 Tfd
C High cutting speed / & T &1 TIfd D Less depth of cut / &C B! TTexIs HH

What is the function of pawl in aslotter power feed mechanism? / Tiiex UTER IS Hapfsd H grad
&1 T B 82

A Rotate circular table / gl <Fd B AT

B Rotate ratchet wheel / [0 &1d &I FHTS

C Increase speed of ram EEEIRI E'G!TG-ﬁ

D Decrease speed of ram / 3H @I TIfd H Ht

Which gear in universal indexing head decides the direction of rotation of index plate in differential
indexing? / gfadd 3R 88 H S 61 MR oieR SR 7 T30 wie & grd &t faw dg el
G4

A Idler gear / 3SR IR B Driver gear/ $FaR fIQR

C Driven gear/ f&a iR D Wom gear/ dq fR

Why does square thread is used in vices? / T H FfdR QTE.PT BT 3qanT &0 fan Gﬂ?ﬂ%‘?

A Low friction / & YT

B Easy engagement / 3{TH &

C Easy to manufacture / raf &3 7 omaH

D They can withstand high load /3 T YR BT T B Tac o

Why depth micrometer can be used to measure wide range of sizes? !ﬁﬁﬂ 9{@?11@ A9 & forg
20 AR BT HR T STANT fosam 5 Febvell 32

A It has an adjustable base / 39X U USSRCHH o¥ §

B It has a lengthy spindle | THD! UP el 7;@ B e

C Itis equipped with a number of extension rods / g Fs fawR %T%PT q ﬂﬂﬁ!ﬁ g

D It has alengthy sleeve / ZhS! al Tid gt ?
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45

46

47

48

49

50

How the program sequence is written in CNC Programming? / CNC g o wrg 3IPH LS|
o STl 7

A N10G02 X 40.0 Z-5 R5.0 F0.1 B X40G02 Z2-5 R5.0F0.1
C N10 X40.0 Z-5 G02 R5.0 F0.1 D X400Z-5N10 GO2 R5.0 FO.1

How incremental Jog mode is used in CNC machine? / CNC T & Zhited ST Alg &1 Iuan
fo g TR forar o 22
A Used to take offsets / 3BT &4 T

B Used to edit program / TRITH Tf&e &7 & e Iuam o orar &
C Used to stop the machine / H=fH & Jeha &

D Used to run the machine automatically / 7S @ Taeferd =0 T Tdm & forg uanT fear sirar 8

How to check the wear correction done in CNC machine? / CNC H2H # fohT 17U faar seaem &1
Y IF B

A By run the single block mode / RiTTd sl A8 &) Iaiiay

B By run the Jog mode / ST IS &I TaATHY

C By run the auto cycle / 3flel ?Tl'a:ﬁrcfﬁ ERIGES

D By check the dimension manually / WWW@@WH#’FG@W

How to determine the outside dia (OD) value in helical gear calculation, if pitch dia is 100mm and

normal module is 5mm? / afe; fr= ST 100 7 SR Ao Aeger s fadt 3 Y, Bftrper R o
H 3[eHISS ST (OD) U $Y Fffd H¥2

A 105 mm B 500mm
C 20mm D 110mm

Which safety check is very important while working on machining centre? / AT Fex | &M
B qHY B At GRem S 984 Heaqul 8l 27

Speed and Feed rate / &g IRBIE Y

Work Zero point, Tool Offset / % SR UIse, T 3Thae

Lubricant tank oil level / W8® ¢ dd TR

Check the chuck function / T& HaRTH &1 Sid &Y

o O W r

How the Tapping operation is performed in VMC? / VMC B 2ftft affry=m b4 fasar wn 22

A Feed CW - Dwell spindle CW- Feed CCW / T8 CW - §3d fRISd CW - BT CoW
B Feed - Dwell - Rapid Traverse / %I - Eaﬂ -Xfus a_cﬂf

C Feed - Dwell - Feed / IS - ad - IS

D Feed - Spindle stop - Rapid Traverse / B8 - fRIgd 1Y - e o
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Question Paper for Technician (1) TC1806 Animal House Post

. The commonly used bedding material for the laboratory rodents is

Paper strips
Processed corncobs
Cotton

All of the above

oo op

The sterilization of bedding material is done by
a. Autoclaving
b. Exposed to sunlight
c. Spraying a disinfectant
d. UV light exposure

IAEC is the committee which approves the protocols for animal experimentation, and the
[AEC stands for . .
a. International Animal Ethics Committee
b. Institutional Animal Ethics Committee
c. Indian Animal Ethics Committee
d. Institutional Animal Export Committee

The ambient temperature for mouse in the laboratory animal house is
21:25°C

26-29 °C

29.6-30.5°C

31-37°C

oo oP

The pregnancy duration of a mouse is
a. 19-21 days
b. 29-31 days
c. 39-41 days
d. 49-51 days

The IAEC
a. Reviews animal use protocols
b. Conducts inspections of animal facilities and reviews institutional animal use
programs every six months
¢. Can serve as an information and resource liaison on animal welfare and research

concerns
d. All of the above



Samples of all tissues collected during a necropsy are preserved for histopathology by
placing them in

a. Sterile water

b. Buffered saline

c. 10% buffered formalin

d. Plastic bags; freezing sample

. Age at weaning in rats

a. 4days
b. 3 weeks
c. 5 weeks

d. 2 weeks

Where the laboratory animals will be kept for 7 days when you bring them from outside
the facility?

a. Isolation room

b. Quarantine room

c. Sick room

d. Experimental animal room

. What are the 3R’s?

a. Reduction, Reuse, Refinement

b. Recycle, Reuse, Reduces

c. Reduction, Replacement, Refinement
d. Replace, Refinement, Reuse

- Guinea pigs requires a dietary sources of which of these vitamins?
a. Vitamin A
b. Vitamin D
c¢. Vitamin C
d. Vitamin B

. When the hair loss is seen in all the mice in a cage except one, this could be due to the
hair plucking by the dominant mouse and this condition is called
a. Fur chewing '
b. Barbering
c. Lose hair
d. Furslip

The {:')est place to take blood collection in a rabbit is 7
a. Ear veins

b. Front foot

¢. Jugular vein

d. Eyes



14. A zoonotic disease is ?
a. A disease that is transmitted from parasite to mammal
b. A disease that is transmitted from mammal to parasites
c. A disease that is transmitted form animals to humans
d. A disease that is transmitted from animals to animals

15. What is the optimal relative humidity to be maintained in laboratory animal room

a. 10-25%
b. 30-70%
c. 75-90%
d. 100%

16. The most commonly used laboratory animatl is

a. Mouse :
b. Monkey >
c. Dog :
d. Hamster

17. Which gaseous agent is recommended for euthanasia in rats?

a. Nitrogen

b. Carbogen

¢. Carbon-di-oxide
d. 100% oxygen

18. Which of the following is a strain of Mouse?
a. Dunkin Hartely
b. Wistar albino
c. Swiss albino
d. New Zealand White

19. Coprophagy is
a. Eating its own feces
b. Eating green grass
c. Eating paper
d. Eating sand

20. The best method of sterilization of rodent cages is by
Cleaning with isopropy! alcohol -
Autoclaving

Soaking in soap solution

. washing with hot water

oo o



21,

24.

26.

Which of the following method of clean water should be provided to the laboratory
animals?

a. Autoclaved water

b. Acidified water

¢. Reverse osmosis purified water
d. Any of the above

. What is PPE means?

a. Private Protective Equipment

b. Personnel Protective Equipment
c. Public Protective Equipment

d. Periodic Protective Equipment

. What is the approprlate method of disposing the carcass?

a. Store it in deep: freezer until it is handed-over to the biosafety agent for
incineration
Buryitina deep pit covered with soda lime powder and the soil
Dispose it in the bank of river so that the predators eat it away

d. Dispose it along with the regular waste

Any abnormal clinical signs or behaviour observed in the laboratory animals should be
reported first or immediately to which of the following personnel?

a. Director

b. Laboratory Animal Veterinarian

c. Principal Investigator

d. Facility In-charge

. Quarantine of laboratory animals means

a. The sick laboratory animal is separated and observed for morbidity

b. The place to store the dead animals

¢. The room where the experimental laboratory animals are kept _

d. The room where the newly received animals are observed for health and microbial
status before it is introduced in to the experimental area

The duration of quarantine for rodents is
a. One day
b. One week
c. One month
d. One year



27. Laboratory animals can be procured only from
a. Pet shops

b. CPCSEA approved laboratory animal facility
c. Scavenging rats
d. Forest

28. The bedding material of the rodents cages should be changed at least once in every

© a. day
b. 3 days
c. 7days
 d. Whenever the bedding material is unclean

29. Which of the following items should not be used by the animal caretakers working in
laboratory animal facility ;

a. Gold ornaments
b. Hair dye

- ¢. Deodorants
d. Writing pen

30. Number of air changes in the animal room should be
a. 12-15 air cycles per hour
b. 12-15 air cycles per minute
c. 12-15 air cycles per day
d. 12-15 air cycles per 12 hours

31. What should be the light intensity in the laboratory animal rooms?
a. More than 400 lux at one meter above the ground
b. Less than 400 lux at one meter above the ground

" ¢. Less than 400 lux at one meter from the ceilings
d. More than 400 lux at one meter from the ceilings

32. Noise level in the laboratory animal room should be
" a. More than 150 decibel
b. 100-150 decibel
c. 85-100 decibel
d. Less than 85 decibel



33. Rodents should be housed in cages as

a.

b.
c.
d.

Single in each cage

Crowded

Group housing depends on the size of the cage
Mixed sexes even if it is not a breeding trial

34. Type of feed to be given for rodents i

d.

b.
C.
d

Powder feed :
Semi-moist feed

Hard pelleted feed

Greens and vegetables

35. Transportation of laboratory animals should be done by

a.

b.
c.
d

Bicycle
Public transport like train or Bus
Air-conditioned vehicle/car
None of the above

36. Euthanasia means

a.

b.
&;
d

Making the animal unconscious
Awakening the animal from unconscious
Killing the animal with pain

Killing the animal without pain

37. How to prevent the wild rodents from entry into the animal house

£

b
¢
d

By keeping a rodent trap in the corridor

By keeping the sticky pad in the corners of the rooms and corridor
By taking the help of the pest control professionals

Any of the above

38. Hunched posture in a rat in a cage indicates

P

b
8.
d

Playful activity
Mating behavior
Pain and distress
Aggressive behavior

39. Rodents are nocturnal, which means -

a.

b.

They are active in the day time

They are active in the night time

They are active both day and night time
They are active only when food is available



40

41

42

44

45

46

. Incisor teeth grows continuously in

d.

b
C.
d

Dogs

. Guinea pigs

Rats

. Hamsters

. Ringtail in rats is due to

a.

b
&,
d

Low relative humidity of the animal room

. High relative humidity of the animal room

Low temperature of the animal room

. High temperaiure of the animal room

. Fighting in male rodents is more common in

a.
b.
c.

d.

. IAEC meeting should be conducted at least once in every

a.
b.
c.
d.

. The approval for conducting studies on large animals such as dogs is given by

d.

b
c.
d

. Inspection of the laboratory animal facility is conducted by Nominees at least once in a

a.

b.
c.
d.

Rat
Guinea pig
Mouse
Hamster

Fortnight
Month

Six months
Year

[AEC

.. CPCSEA

Veterinary college Dean

. District magistrate

Fortnight
Month

Six months
Year

. Laboratory animal house should be monitored

a.

e e o

Continuously-using CCTV

All the days including government holidays
Night duty may be required

All of the above



47. Rodent cage and lid should be washed at least once in

a. A Week
b. Three days
c. Daily

d. A month

48. Mopping of floor of the animal house with disinfectant should be done at least
a. Once daily :

b. Twice daily
¢. Once in a week
d. On alternate days

. 49. Reuse of laboratory animals is

a. Not allowed at all in any species -

b. Allowed only if there was no significant adverse effects observed
c. Allowed only in large species

d. Not allowed only in rodents

" 50. The Fourth “R” of CPCSEA is

a. Rehabilitation
b. Research

c. Reform

d. Reject approval
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SEWING TECHNOLOGY
. Total Marks: 150
Attempt all questions Time: 1 Hour

What is called as rectangular interlacing yarns? / YaeT[eR SeXaiitinT 1 &1 &1 B8l Sl 82
A  Weaving !Eﬁﬁ B Knitted / T g3
C Non-woven /TR g1 gl D Stain weave / ®A g1

Which garment is constructed with kimono sleeve? / fHH wid o g ufver o1 o fosan Sirar

22
A Baby frock / §&ft Wics B Jumpsuit / SFOYC
C Kurti/ Tl D Jerkins/ SRidbA

Which parts holds the needle at one end with help of the clamp? / &T ! Hgg ¥ U BR | kel
fp fowl & wadt &2

A Face plate / T &c B Flywheel /T3 gd
C Needle bar/ ﬁgﬂ@ D Presser foot / ﬂmgv_c“

Which one is particularly used in motorised sewing machine parts? | Hiexaierd frars #=ii & gaif
7 Ry =0 & et waT forar ST 82

A Treadle /O B Band wheel / § &1 Ufgdr
C Band wheel cover/ §8 @d SR D Power switch / TR R

What is the name of 45° angle strips? / 45° 101 ¥1Y HT AT 1 872

A Warp /dHI B Weit/d0e
C Straight /T D Bias/ €N

Which tool is used to draft pant inseam? / U¢ 311 I STUE G- P 01T [ & 1 AN bl
ST 8

A French curve / B 9 B Cuwve ruler / 3% SR
C L-scale/L-%bd D Setsquare/ T4l

What is the process of cutting unnecessary thread? / 3FTaWE YT & HIc I Uishal Bl &I
Fgard 8

A lroning / 3%l B Timming /&

C Pressing / U D Grading 19T
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10

11

12

13

14

Which machine is used for producing decorative stitches in hand kerchiefs and other hems? / f&d

TIRI T ST HIE IR 31 BH  Foadh 2 ey & for faram o 22

A Flat lock machine / Tl @l T3 B Overlock machine / 3idR @i AL
C Zig-Zag machine / forT-oi mef D Lock stitth machine / @i & 7l

Which is major requirements of the new born babies dresses? / <Taoid RIFSHT & HUST B THE
SHIRIHA DI Tt 82

A Soft/ gamw B Strong /&M

C Durable / fe®T3 D Skinny / f&pAT (Udam

Which garment is traditionally indigo blue and made from cotton? / & T U URURS ©7 J
SRS =Hielt T Pie J S el 27

A Cargo pant/ & U B Capris pant/ Wl Ue
C Chinos Pant / 1819 Ud D Jeans Pant/ =g te

Which accessories are needed to sewing craft for the cloth? | BUs & iU fiars Hue & fou i
Y U Bt MaGHdT Bl 27

A Loom and fibres / TH 3R BIFER B Needle and thread / g 3R 4T
C Leaves and needle / Uftial 3R g D Thread and leaves / 4T 3R Tfer

Which tool is used for cutting template from thick card board? / TI¢ HIE &1d U1 Wifes § Higyd
SHRie Bl Bl F R vy Suaur &1 Syt foba Sirar 82

A Button hole scissor's / ¢ gld drdt B Pinking scissor's / &R it
C Pattern scissor's / ﬁz:f%ﬂ D Hand scissor's/ 8lY &I !

Which machine is used for special purpose to finishing edges and sometimes for seaming? / TS @l
TH B & o 3R -l e & for fami weite & R forg wrefte ot Suh fovan iran 22

A Double needle machine / 38 gg HRIA B Zigzag machine / foT &7 Wi

C Overlock machine / 3fla¥ais AEi D Bution sewing / e RdTS

Which fabric is preferred for over lapping corners? / 3fiaR fth B1H1 & g B9 91 syl yde bar
ST 82

A Heavy weight fabric / YRl Ioi &1 HUS]

B Medium weight fabric / H&H dul- &l dUg]

C Light weight fabric / §¢b doi & ®HUS

D Coarse fabric / HI¢ $IS
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15

16

17

18

19

20

Which overlock machine is used to goods of textile finishing? / caryerse AR & Jm & foy
Ty sflaRdles WA &1 U fhar & 27

One thread overlock machine / U@ YT 3fidRale AR

Two thread overlock machine / & ¢TI 3fidRelles AL

Three thread overlock machine / diF YT 3ffavadlie T

Four thread overlock machine / IR YT 3ffaRaid ALt

o O W »

Which parts engages and disengages the stitching mechanism?/ %ﬁ'ﬁcﬁﬂ & o 3 few gau 3R
3G PRI

A Stop motion screw / 10 X & B Fly wheel / /IS §ld
C Bobbin winder / SifsH ag=T D Presser foot/ TR B¢
What is the function of facing and enclosing of edges? / fRI BT UHHAT HeA 3R U BT B Al

e

Turning up the raw edge / ®d fHAR &I AIgAT
Right side of the cloth / TS @ GIfgAT 4T
Side seam / A5S W

Selvedge of the cloth / HUS &1 bR

o O o P

What is the advantage of mitring with banding corner? / SETFR B G HH FA B R B
2

Material size increase / HIfdd® &R f‘rqﬁ?{

Material size decrease / I BT MHR Tedl &

Material size remain same / ITHH &1 TSR JHH T6dT &

Material size shrinks / Gt &1 SR Rpadr g

o O W P

Which material is used to construct pocket pouch? / Gdhe U3 o fAmTords foe ford araedt &1 guah
e S &2

A Shell fabric/ PG| m

B Non - woven fabric / ¥R 1 gafl HUST

C Lining fabric / ZiHT HYSI

D Mesh fabric / ST T RUST

Which is used as a decorative purpose in neck lines? / T Bt @ éH‘f ﬁfwmﬁ:z%m FEH
fargent IuTT faba SiTaT 82

A Facing / BT B Piping / Tgfu
C Banding / af&T D Shaped facing / [ BT
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21

22

23

24

25

26

27

Which collar consume more fabric in basic style with standard neck measurement? / I |1 HIeR

A T A & 1 e Aefl 5 1 HUL BT JUaNT e 2

A Mandarin collar / HeIfXA Fiaw B Band collar/ 88 ®IeR
C Shirt collar / I BT HIeR D Stand collar/ &€ PlieR

Which sleeve armhole seam runs from neck line to under arm? /314 ¥ wita 3THEI EH T8 A2
Y 3fs 3 d Terdt 22

A Setin sleeve / 3¢ 9 ilg B Cuton sleeve / B¢ 3H &ilg
C Raglan sleeve / IMTA0T Tiig D Kimono sleeve / [ Tila

%Vhich material is preferred for stitching churidhar? / TalgR fieE & forg 14 It grmh ueie 1 ardht
?

A Cotton / U B Sik/¥¥H
C  Wool / 3 D Nylon /el

Which joints are formed on the top of the thigh bone and shoulder? / STTd &1 831 3R &8 & I
I I et BT o g 22

A Sliding joint/ TEfET SIS B Hinge joint/ e~ SIs
C Ball and socket joint / STl Ayl Widhe SIS D Gliding joint/ TAZET WIS

Which patterns are prepared the basic standard measurements? / H17 ﬂe-—fgﬁum Hie HIT
SRT daR fahu Smd 82

A Normal patterns / T e B Individual patterns / T e

C Commercial patterns / Fiftifsae e D Self-made patterns / w fAfifd ted

Which process is used to sharpen the creases from the garment?/ TR ¥ W CIRE (Qﬂff) A
& e fasg ufthan &1 Iuai o smar 22

A Drafting / 3Tf@rear B Cutting/ &fear
C Pressing / 9feT D Sewving/ fars

What is the purpose of gathering foot? / TR Bd &I G%QEI @T%?

A To made pleats / wite §HT

B To make tucks / < §TT

C To make tiny p!eats!iﬂ%iﬁ%ﬁﬂ?aﬂw
D To make decorative / GSigd! &1 & forg
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28

29

30

31

32

33

34

Which machine is used for first stitching and then a blade is used to cut the centre portion? [ I
 wfi v Ryes et § 9N o U <ie @ Fg o R ol e Fam et 82

Button machine / ¢4 HYfH

Over lock machine / 3f1aR i AL

C Button hole machine / §¢ Bid ARfA

D Double needle machine / 88d A18d HALIH

Which pocket is applicable in waist line for house coat? / 8138 @1 & T HF T S d% A d
IR,

A In-seam pocket / 3-HH Ul B Hippocket/ f8U i

C Patch pocket / Ud Ui D Slant pocket/ ®ic Uldse

Which blouse is stitched without dart instead the front bodice? | GTH 1 el & IO BTE B ol
EAER: KSI KRR IR

A Katori blouse / HeR} s3] B Plain blouse / TGl &I3W

C Semi katori blouse / 38 BRI AW D CutCholi blouse / He-Alell sSW
Which type of binding used in sheer fabrics? / IR a%al & {5 THR B STS{ET &1 IUNT febat S
&

Binding / STS1&T

Banding / Sf&T

Double (or) French binding / S&d (a) trd a2 {7

Double (or) bias binding / 39 (A1) ITaY A5

o O W >

Which type of fasteners used in kurtas to give decorative finishes? / FaTac! A= &= & forg Pl o
5T UHR ¥ BREAR] (§%/eh) BT SUANT f3BaT S 82

A Velcro/ deh! B Press buttons / U e

C Shank buttons / % A D  Shit buttons / IE & FeA

Which shirt is knitted cotton fabric pull on shirt with a ribbed collar and cuffs? / f¥ss PR 3R FH
F Y B T E Pie Bisd Y 3 IE A g3 37

A Rugby shirt / & TE B Westem shirt / Of3ifl g€

C Garibaldi shirt/ Rares! Td D Polo shirt / TTdll T

Which method used to remove stains of tea, coffee? / AT, B1B] & &N M & fog by fafy &1
I o ST 22

Boiling water and salt and lemon / 3§@d U1 3R THE qur g

Soap and cold water / |Ig 3R 3T U

Only cold water / ad 81 U

With hydrogen steam on the stain / QI U’EE’»T{@GFI Y19 & 1Y

o O W >
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35

36

37

38

39

40

Which type of inspection some part of the shipment thoroughly checked? / T R & PAfieor A
Riude & v fow 3t faega ®u d st 3 srd 2

Fabric inspection / HUs &7 Aty

Stage inspection / & fteu

C  Arbitrary sampling / 3ffeiedt Srgfer

D Acceptance sampling / Wiemfar Segfefy

w

Which types of zipper is used for sports wear? / F@Iﬁ:{ﬁ?ﬂ %WW UHR F R BT 3uiT fbar
e 7

A Open end zipper / 3t T8 fmR B Chain zipper / T foTR
C Ladder zipper!aﬁ OO D Invisible zipper / 32y o
What is the remedy for tangled thread of the beginning of stitch?!ﬁ%ﬁ?ﬁ%% o & fere U

87

A Under thread should be drawn out / 4T & == & fReTar &= =g
B Excess oil / 3ffdfvad dd

C Select the correct needle / F5! Y3 &1 T0 B3

D Clean the feed dog / TS BT & TTH B3I

What is the permanent remedy for cutting of stepped neck corner's? / RTE A& B B} BT B
R Iurg 7 82

Pressing / ORI

Using canvas / HART BT FTGIT HAT

Stitching with heavy thread / YIS om & 1y ﬁl?ﬂ%

Starching the material / ST &1 W BT

o o W Pk

What is the cause for fabric puckering while sewing? / fes &d a0 393 ¥ Rigs 817 &7 SR
w1

A Needle too fine / ﬂé i 3t 8 B Blunt rweedle1’&“‘1‘*‘6'\5{,‘5F

C Feed dog dirty / iG] 1S BT D Poor thread / HHGIR YT
How the sleeveless armholes are finished? / S1ae STHEIS HU U 819 22

A Shaped hemming / 2ts gft B Shaped facing / S BRI
C  Shaped trimming / Rtg fefEf D Gathering / N
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41 What is the reason for usages tucker foot in garment constructions? / URHF fafu ¥ ear e &
IUGNT T T HRUT g2

Time saving device / ¥HY g1 aTall feagd

Only way to form tucks / WWWWW

Time saving and Accuracy / WY @1 S=id 3R Tt

Labour expensive / ¥H Hg

o O W P

42 How can you prevent elastic twisting inside the casing? / 30 BRI & 3eR FaAee fgfEeT &1 B
A% Yahd 82
A A casing wider than the elastic | R ¥ STd UH B
B A casing narrow than the elastic / THIER &1 a1 H Ueb i Tl
C A casing tight than the elastic / @GR &I q@1 H Tdb BT AT
D A casing limited than the elastic / TaaR ¥ HId U HRAT

43 \Which fault occurs while sewing if needle is set to wrong side in machine? Rebick: ﬁ'ap ULGESIES
H oA A RieE B0 GHY B TSN B S 82

A Tangled thread at the beginning / T3 H IALT §3 T
B Machine runs heavily / AL SR ¥ 9ad 8

C Fabric puckering / ®USI Riggr

D Skipped stitches / B1S TU Cldp

44 What is big issue for garment manufactures after completing the product? / 3dTa TRT FRA & G
ufvyr fafmiaredt & fie $H-91 981 48l o7
A Raw-material issue / ®ed HId ] JHET
B Inventory management issue / 3331 Uae HE]
C Order processing issue / 3fTSX AR e
D Garment defects / 3% &N

45 What defect will occur if the tension disc is loose? / | %W”Gﬁ”cﬂ@e!tl? AT 'E?Pﬂ?

A Loops or Formed on the top side / 0 T1 R &1 aRW Tfad

B Loops or Formed on the bottom side / 2 &1 TRW [0 a1 i3
C Top thread cutting / o YT BT

D Bottom thread cutting / f=ra 7T dTeAT

46 Which kurta need gusset piece? / {358 Gl @1 TTHE U &1 SAGTEHAT BiclT 7

A Long kurta / @& $di B Nehru kurta / g% Bl
C  Formal kurta / WTHe (3MERe®) Fal D Traditional kurta / TRUR® Fl
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47 How to avoid bulge on the corner of the neckline inward curves? / TG AR & B4 U 3E2 B 3R
JUR I HY T2

48

49

50

W

c
D

To make clips / ESEEIE aﬂ%ﬂl
To make notches / g S & forg
To make trim / ﬁj? GERT av_ﬁTQ

To make stitch / a1 & & forg

How to rectify the pocket part of the garment to prevent the seams from splitting at the edges due
to over loading? / 3MERaITET & HROT 7 B fHTRY TR s A AFA ¥ forw ufeer & uihe ara e
B HY BT HY?

w

C
D

By restitch on either side of pocket mouth / Tfdhe HIZY & &Ml R Jfed T

By bar stitch on either side of pocket mouth / Gfthe AISY & AT 3R IR &g gry

By double on either side of pocket mouth / Gfdhe ATIY & 2! 3R S b

By reverse stich on either side of pocket mouth / Ufdse AIY & a1 3R fawf &= gry

How to rectify if the sleeve crown is more than the arm hole size when attaching the collar to the

shirt? / BHIcR B ¢ Y SIS THY F18 & B & HMBR T s 81 W Tid 137 B Ha U2

A

Make small running stitch around the neck part / &1 & 2  IRY 3R BIA-BIE Te arelt
ISMIEG TS

Cut the excess fabric / 3ffafRad Eb_q@ Fred

Prepare a new collar / T8 947 BTeR dUR $3

Prepare small dart for around the neck / & & TRY 3R B 3¢ dUR %

What is the effect of alternating the Front and Back of the sleeve arm shape when attaching the
arm to the garment? / S &1 URYT ¥ Sgd THY T & 81U & DR & 3 3R 11y & arl-
R G KRG K

o O W »r

Back side body part pulled / qre! ﬁ?ﬁ@ﬁ%ﬁ EARGIE)
Front side sleeve pulled / he 9133 il @idT

Front side sleeve wrinkles / The 9138 &ild Naad

Back and Front side / 3% US The T3S
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Technician (1) TC1806 Animal House Post

Answer Keys

1. b 26. b
2. a 27. b
3. b 28. b
4, a 29. C
5. a 30. a
6. d 31. b
7. c 32. d
8 - b 33, c
9. b 34, c
« 10 ‘ ¢ 35, C
11. c 36. d
37 - b 37. d
13. a 38. c
14. c 39. b
15. b 40. C
16. a 41, a
17. c 42. c
18. c 43. c
19. a 44, b
20. b 45, d
21 d 46. d
22. b 47. a
23. - a 48. b
24, c 49. b
25. d 50. a
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